
MATHS

BOOKS - MODERN PUBLICATION

POLYNOMIALS

Example

1. Which of the following expression are polynomials

Watch Video Solution

x3 − 7x + 3

2. Which of the following expression are polynomials

Watch Video Solution

3√x + 7

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3wwxPwilJWNW
https://dl.doubtnut.com/l/_VmVe9jeA89Ut


Watch Video Solution

3. Which of the following expression are polynomials

Watch Video Solution

x + + 1
7
x

4. Which of the following expression are polynomials

Watch Video Solution

3√x + 8

5. Which of the following expression are polynomials

x-7

Watch Video Solution

https://dl.doubtnut.com/l/_VmVe9jeA89Ut
https://dl.doubtnut.com/l/_CDYwSAyEHCgW
https://dl.doubtnut.com/l/_YaT5t3kL9q6y
https://dl.doubtnut.com/l/_g1WqxsozFlxR


6. Which of the following expression are polynomials

0

Watch Video Solution

7. Write the degree of each of the followng polynomials

Watch Video Solution

2x − √5

8. Write the degree of each of the followng polynomials

Watch Video Solution

8x4 − 37x + 6x9

9. Write the degree of each of the followng polynomials

5

https://dl.doubtnut.com/l/_0KYEU7QKdoAP
https://dl.doubtnut.com/l/_8q3FIsslqnSP
https://dl.doubtnut.com/l/_8hPduoygGJyM
https://dl.doubtnut.com/l/_AaqPv6CR2cNM


Watch Video Solution

10. Write the degree of each of the followng polynomials

9

Watch Video Solution

11. Write:

the coefficient of  in 

Watch Video Solution

x3 3x + x2 − 6x3 + x4

12. Write:

the coefficient of  in 

Watch Video Solution

x2 x2 + 5x − 3
π

6

https://dl.doubtnut.com/l/_AaqPv6CR2cNM
https://dl.doubtnut.com/l/_mRvUkGuO1UHF
https://dl.doubtnut.com/l/_31Sn1BofcszF
https://dl.doubtnut.com/l/_BIIus9v7NB8T
https://dl.doubtnut.com/l/_fb3rlpGkVvUU


13. Write the degree of the followng polynomials

the coefficient of  in 

Watch Video Solution

x3 3x2 − 5

14. Classify the following polynomials as linear, quadratic, cubic and

biquadratic polynomials:

5x-2, , , 5y, , 

Watch Video Solution

x2 + x + 7 2x + 3x3 z2 + 1 7x4 + 4x3 + 7x − 2

15. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

x2 − xy + 5y2

https://dl.doubtnut.com/l/_fb3rlpGkVvUU
https://dl.doubtnut.com/l/_QhCLdrNykkQB
https://dl.doubtnut.com/l/_vze2UtynTTmP


16. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

x2 − 2tx − x + 3

17. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

t3 + 3t2 + 7t − 9

18. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

xy + 2yz + 3zx

https://dl.doubtnut.com/l/_IYHv1DAFv36Y
https://dl.doubtnut.com/l/_svWBi3yixRDq
https://dl.doubtnut.com/l/_6fq3LCRRTH68


19. Write:

a binomial of degree 100

Watch Video Solution

20. Write:

a monomial of degree 25.

Watch Video Solution

21. Write:

a trinomial of degree 7.

Watch Video Solution

22. If , find p(0),p(4) and p(-5)

W t h Vid S l ti

p(x) = 4x2 − 3x + 6

https://dl.doubtnut.com/l/_5770XysKWDYm
https://dl.doubtnut.com/l/_O5ddF0zEzhKK
https://dl.doubtnut.com/l/_FULpn3HNyAfd
https://dl.doubtnut.com/l/_dw2E5xuwrUw1


Watch Video Solution

23. Find the zero of the polynomial:

p(x)=x-4

Watch Video Solution

24. Find the zero of the polynomial:

Watch Video Solution

q(x) = 2x + 3

25. Find the zero of the polynomial:

Watch Video Solution

r(z) = ax + b, a ≠ 0

https://dl.doubtnut.com/l/_dw2E5xuwrUw1
https://dl.doubtnut.com/l/_hgsp6wL7zG2T
https://dl.doubtnut.com/l/_Q5dsB5BJa3TK
https://dl.doubtnut.com/l/_xc0zrASbdHkT


26. Find the zero of the polynomial:

Watch Video Solution

s(x) = 5x

27. Verify that

6 is a zero of the polynomial p(x)=x-6

Watch Video Solution

28. Verify that

 is a zero of the polynoial q(x)=2-7x

Watch Video Solution

2

7

29. Verify that

2 and -3 are zeroes of the polynomial

https://dl.doubtnut.com/l/_2zLW2i3fzfh2
https://dl.doubtnut.com/l/_8TwR75n23mRH
https://dl.doubtnut.com/l/_SmO8z5zsSq6C
https://dl.doubtnut.com/l/_XyFSzLUBHNkX


Watch Video Solution

r(x) = x2 + x − 6

30. If x=2 is a zero of  find the value of k.

Watch Video Solution

p(x) = 2x3 − 3x + 7k

31. IF x=0 and x=2 are zeroes of

, find the value of a and b.

Watch Video Solution

p(x) = 2x3 − 5x2 + ax + b

32. Find the remainder when the polynomial:

 is divided by (x-2)

Watch Video Solution

f(x) = 3x4 − 6x2 − 8x + 2

https://dl.doubtnut.com/l/_XyFSzLUBHNkX
https://dl.doubtnut.com/l/_jcAYr6PEL0a6
https://dl.doubtnut.com/l/_x3Zh7A4YZ3Kk
https://dl.doubtnut.com/l/_MTC5yl7lFdgS
https://dl.doubtnut.com/l/_hljjG3rRzdqK


33. Find the remainder when the polynomial:

 is divided by (x+2)

Watch Video Solution

f(x) = x3 − 6x2 + 13x + 60

34. Find the remainder when the polynomial:

 is divided by (2x-1)

Watch Video Solution

f(x) = 4x3 − 12x2 + 11x − 5

35. Check whether the polynomial:

 is a multiple of (2x+1)

Watch Video Solution

f(x) = 4x3 + 4x2 − x − 1

36. If the polynomials:

 and  leave the same(2x3 + ax2 + 3x − 5) (x3 + x2 − 2x + a)

https://dl.doubtnut.com/l/_hljjG3rRzdqK
https://dl.doubtnut.com/l/_EQCyz19ZzSIR
https://dl.doubtnut.com/l/_U54r3PwcalOF
https://dl.doubtnut.com/l/_fvpa1MrQFHVf


remainder when divided by x. find the value of a. also find the

remainder in case.

Watch Video Solution

37. Let  and  are the remainder when polynomials


 and  is divided by (x+1) and

(x-2) respectively. If , find the value of a.

Watch Video Solution

R1 R2

x3 + 2x2 − 5ax − 7 x3 + ax2 − 12x + 6

2R1 + R2 = 6

38. Show that (x-3) is a factor of:

.

Watch Video Solution

2x3 + 7x2 − 24x − 45

39. Show that (x+2) is a factor x4 − x2 − 12

https://dl.doubtnut.com/l/_fvpa1MrQFHVf
https://dl.doubtnut.com/l/_khLODnjFLqiQ
https://dl.doubtnut.com/l/_VMZUZa2IyxcF
https://dl.doubtnut.com/l/_ituzmqt7jjka


Watch Video Solution

40. Find the integral zeroes of the polynomial

Watch Video Solution

x3 − 6x2 + 11x − 6

41. Find the value of a, if(x-a) is a factor of 

Watch Video Solution

x3 − a2x + x + 2

42. Find the value of k, if the polynomial:

 is exactly divisible by (x+2).

Watch Video Solution

2x4 + 3x3 + 2kx2 + 3x + 6

https://dl.doubtnut.com/l/_ituzmqt7jjka
https://dl.doubtnut.com/l/_a6IsR1UZvHBL
https://dl.doubtnut.com/l/_Q0olHljzsbq6
https://dl.doubtnut.com/l/_y4kBsgYqxa3V


43. Find the value of k, if the polynomial:

 is exactly divisible by 1-2x.

Watch Video Solution

2x4 − kx3 + 2x + 1

44. Without actual division, prove that:

 is exactly divisible by 

Watch Video Solution

(2x4 − 6x3 + 3x2 + 3x − 2) (x2 − 3x + 2)

45. Prove that (3x-2) is a factor of 

Watch Video Solution

(3x3 + x2 − 20x + 12)

46. Use factor theorem to verify that (x+a) is a factor of  for

any odd positive integer.

W t h Vid S l ti

xn + an

https://dl.doubtnut.com/l/_k8Gl3Unq8WFE
https://dl.doubtnut.com/l/_qnt24NWiItRY
https://dl.doubtnut.com/l/_Wt6YUXuCkm5Q
https://dl.doubtnut.com/l/_l929DkYpbX34


Watch Video Solution

47. If both (x-2) and  are factors of , prove that

p=r.

Watch Video Solution

(x − )
1

2
px2 + 5x + r

48. What must be added to  so that the

resultant polynomial is divisible by ?

Watch Video Solution

x4 + 2x3 − 2x2 + x − 1

(x2 + 2x − 3)

49. Factorize the following expressions

Watch Video Solution

5x2 − 15xy

https://dl.doubtnut.com/l/_l929DkYpbX34
https://dl.doubtnut.com/l/_nO2vObnTSvxr
https://dl.doubtnut.com/l/_PAtLRz4LfsUb
https://dl.doubtnut.com/l/_IlWG7cO5k4JK


50. Factorize the following expressions

Watch Video Solution

6(2x + 3y)2 − 8(2x + 3y)

51. Factorize the following expressions

Watch Video Solution

x(x2 + y2 + z2) + y(x2 + y2 + z2) − z(x2 + y2 + z2)

52. Factorize the following expressions

Watch Video Solution

x2 + 5x + x + 5

53. Factorize the following expressions

x2 + y − xy − x

https://dl.doubtnut.com/l/_EF8hIeALhVng
https://dl.doubtnut.com/l/_7RFbyFCjyuto
https://dl.doubtnut.com/l/_QMToaeEwTAd5
https://dl.doubtnut.com/l/_C7u10s5E3hDH


Watch Video Solution

54. Factorize the following expressions

Watch Video Solution

x2 + + 2 − 3x −
1

x2

3

x

55. Factorize the following expressions

Watch Video Solution

(x2 + 3x)
2
− 7(x2 + 3x) − y(x2 + 3x) + 7y

56. Factorize the following expressions

Watch Video Solution

a2 + b2 − 2(ab + bc − ac)

https://dl.doubtnut.com/l/_C7u10s5E3hDH
https://dl.doubtnut.com/l/_j4tCluqgQQ1f
https://dl.doubtnut.com/l/_oSmFBskACRe5
https://dl.doubtnut.com/l/_KjtpTQHjHNHc
https://dl.doubtnut.com/l/_ny84VFBFF5xq


57. Factorize the following expressions

Watch Video Solution

4(x + y)2 − 28(x + y) + 49y2

58. Factorize the following expressions

Watch Video Solution

(5x − )
2

+ 4(5x − ) + 4, x ≠ 0
1

x

1

x

59. Factorize the following expressions

Watch Video Solution

x3 − x

60. Factorize the following expressions

2x5 − 32x

https://dl.doubtnut.com/l/_ny84VFBFF5xq
https://dl.doubtnut.com/l/_LHlVE0egQJn2
https://dl.doubtnut.com/l/_vUjgPkQFn590
https://dl.doubtnut.com/l/_BNvoM8B8wl1r


Watch Video Solution

61. Factorize the following expressions

x(x-1)-y(y-1)

Watch Video Solution

62. Factorize the following expressions

Watch Video Solution

1 + 2ab − a2 − b2

63. Factorize the following expressions

Watch Video Solution

25x2 − 10x + 1 − 36y2

https://dl.doubtnut.com/l/_BNvoM8B8wl1r
https://dl.doubtnut.com/l/_jBxhTWaKMkNU
https://dl.doubtnut.com/l/_F8xW6c1jjdW6
https://dl.doubtnut.com/l/_57eeiFoLvrN0


64. Factorize the following expressions

Watch Video Solution

4a2 − 9b2 − 2a − 3b

65. Factorize the following expressions

Watch Video Solution

x4 + 4

66. Factorize the following expressions

Watch Video Solution

x8 − y8

67. Factorize the following expressions

x4y12 − x12y4

https://dl.doubtnut.com/l/_wTfa85dNs7bp
https://dl.doubtnut.com/l/_xVAsMUNTYexN
https://dl.doubtnut.com/l/_U96sManTvTaF
https://dl.doubtnut.com/l/_IwVjf5dQ6hFm


Watch Video Solution

68. Factorize the following expressions

Watch Video Solution

x2 + 3√3x − 30

69. Factorize the following expressions

Watch Video Solution

5√5x2 + 30x + 8√5

70. Factorize the following expressions

Watch Video Solution

2(x + y)2 − 9(x + y) − 5

https://dl.doubtnut.com/l/_IwVjf5dQ6hFm
https://dl.doubtnut.com/l/_msMzsOcu0kBy
https://dl.doubtnut.com/l/_d8SwmNwENhYz
https://dl.doubtnut.com/l/_wgBNhOpXSSqr
https://dl.doubtnut.com/l/_TCPPdLKpPG0z


71. Factorize

Watch Video Solution

y3 + 13y2 + 32y + 20

72. What are the possible expression for the length and breadth of a

rectangle whose area is ?

Watch Video Solution

25x2 − 35x + 12

73. Expand 

Watch Video Solution

(2a − b + c)2

74. Factorize: 

Watch Video Solution

4x2 + 9y2 + 16z2 + 12xy − 24yz − 16xz

https://dl.doubtnut.com/l/_TCPPdLKpPG0z
https://dl.doubtnut.com/l/_LxqYoPSM59Q5
https://dl.doubtnut.com/l/_jUby4L6cpRx1
https://dl.doubtnut.com/l/_3c8ExKULh3gP
https://dl.doubtnut.com/l/_9RuVif29ZUoz


75. Evaluate: 

Watch Video Solution

(998)2

76. Expand: 

Watch Video Solution

(4x + 3y)3

77. Expand: .

Watch Video Solution

(2a − )
3

2

a

78. Evaluate: 

Watch Video Solution

(95)
3

https://dl.doubtnut.com/l/_9RuVif29ZUoz
https://dl.doubtnut.com/l/_LGAkCvwHUAlD
https://dl.doubtnut.com/l/_8AheRQbKkPkj
https://dl.doubtnut.com/l/_J7YF5ouyEuYw


79. Evaluate: 

Watch Video Solution

(998)3

80. Factorize:

Watch Video Solution

x3 + 81

81. Factorize:

Watch Video Solution

8x3 + 64y3

82. Factorize:

W t h Vid S l ti

8x3 − 27y3

https://dl.doubtnut.com/l/_cyQFkNG4dw9k
https://dl.doubtnut.com/l/_F1WTPKijTkJt
https://dl.doubtnut.com/l/_WzOOUlQSEm3b
https://dl.doubtnut.com/l/_U652yPXXa6aN


Watch Video Solution

83. Factorize:

Watch Video Solution

2x7 − 128x

84. Factorize:

Watch Video Solution

a6 − b6

85. Factorize:

Watch Video Solution

8a3 − b3 − 4ax + 2bx

https://dl.doubtnut.com/l/_U652yPXXa6aN
https://dl.doubtnut.com/l/_AS0GGpQiQfQv
https://dl.doubtnut.com/l/_rBVIMwGsThuY
https://dl.doubtnut.com/l/_zlxnzK0qitRx


86. Factorize:

Watch Video Solution

(2a + 3b)3 − (2a − 3b)3

87. Find the product

.

Watch Video Solution

(2x − y + 3z)(4x2 + y2 + 9z2 + 2xy + 3yz − 6xz)

88. Factorize

Watch Video Solution

x3 − 8y3 + 64z3 + 24xyz

89. If a+b+c=6 and ab+bc+ca=1, then evaluate 

W t h Vid S l ti

a3 + b3 + c3 − 3abc

https://dl.doubtnut.com/l/_c6nvAS9t0YsT
https://dl.doubtnut.com/l/_3fiSFXx2il1z
https://dl.doubtnut.com/l/_YDIPFdwBtnMa
https://dl.doubtnut.com/l/_x1N15yHx8idJ


Watch Video Solution

90. Factorize: .

Watch Video Solution

a3 − b3 + 1 + 3ab

91. Factorize: .

Watch Video Solution

x3 + 27y3 + 8z3 − 18xyz

92. If x+Y+z=1, xy+yz+zx=-1 and xyz=-1, find the value of .

Watch Video Solution

x3 + y3 + z3

93. If p=2-a, prove that 

Watch Video Solution

a3 + 6ap + p3 − 8 = 0

https://dl.doubtnut.com/l/_x1N15yHx8idJ
https://dl.doubtnut.com/l/_RCSIUb1wQ5uN
https://dl.doubtnut.com/l/_as4p71qdasUn
https://dl.doubtnut.com/l/_OBRoCYrawcGC
https://dl.doubtnut.com/l/_vR0a6DqewqEB


94. Evaluate: 

Watch Video Solution

253 − 753 + 503

95. Simplify:

Watch Video Solution

(a2 − b2) + (b2 − c2)
3
+ (c2 − a2)

3

(a − b)3 + (b − c)3 + (c − a)3

96. If  is a factor of  then show that

p+r+t=q+s=0.

Watch Video Solution

x2 − 1 px4 + qx3 + rx2 + sx + t

97. Given that  leaves the remainder 1 on division by 2x+1

and  leaves the remainder 2 on divisible by 3x-1. find a

ax2 + bc + 6

2bx2 + 6x + a

https://dl.doubtnut.com/l/_CI2NoqqyrrLR
https://dl.doubtnut.com/l/_Xs7NtZhHHMAq
https://dl.doubtnut.com/l/_21KYBaUxU2MF
https://dl.doubtnut.com/l/_lOOFcUdr3lS5


and b.

Watch Video Solution

98. If  is a polynomial such that when it is

divided by x-1 and x+1, the remainders are 5 and 19 respectively. Then

find the remainder when p(x) is divided by (x-2)

Watch Video Solution

p(x) = x4 − 3x2 − ax + b

99. Using factor theorem, show that x-y,y-z,z-x are the factors of

Watch Video Solution

x2(y − z) + y2(z − x) + z2(x − y)

100. If , evaluate 

Watch Video Solution

x2 + = 79
1

x2
x3 +

1

x3

https://dl.doubtnut.com/l/_lOOFcUdr3lS5
https://dl.doubtnut.com/l/_2tj3nHqtFLJ1
https://dl.doubtnut.com/l/_4de2Sbsuy77P
https://dl.doubtnut.com/l/_AdSTk2vjcp85


101. In a particular section of class IX  times the square of total no. of

students planned to visit an orphange,  times the total no. of

students planned to visit historical monuments of India while 12

students decided to given their consent for teaching slum children for

a week. using above information,express the total number of students

of class as a polynomial.

Watch Video Solution

1

7
5

9

102. The students of four sectoins of class 9th donated collectively Rs

8281 for the Orphange child Fund for children's living. If each student

donated as much money as the number of students who donated the

money, how many students donated money for the organisation? what

values of depicted by these students?

Watch Video Solution

https://dl.doubtnut.com/l/_AdSTk2vjcp85
https://dl.doubtnut.com/l/_hHwBwbEMW5pA
https://dl.doubtnut.com/l/_TegyGHYl8Ptp
https://dl.doubtnut.com/l/_7nKcqrvlCf95


103. Which of the following expressions are polynomials in one

variable and which are not? State reasons for your answer:-

Watch Video Solution

4x2 − 3x + 7

104. Which of the following expressions are polynomials in one

variable and which are not? State reasons for your answer:- 

Watch Video Solution

y2 + √2

105. Which of the following expressions are polynomials in one

variable and which are not? State reasons for your answer:-

Watch Video Solution

3√t + t√2

https://dl.doubtnut.com/l/_7nKcqrvlCf95
https://dl.doubtnut.com/l/_5YTOoQqUu46c
https://dl.doubtnut.com/l/_cQMbvi8Gnxjf


106. Which of the following expressions are polynomials in one

variable and which are not? State reasons for your answer:- 

Watch Video Solution

y +
2

y

107. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 

Watch Video Solution

x10 + y3 + t50

108. Write the coefficients of  in each of the following: 

Watch Video Solution

x2 2 + x2 + x

109. Write the coefficients of  in each of the following: 

Watch Video Solution

x2 2 − x2 + x3

https://dl.doubtnut.com/l/_T2H8KdvCX9Uy
https://dl.doubtnut.com/l/_pXbJgTXtsSOW
https://dl.doubtnut.com/l/_bufnQFroWLAb
https://dl.doubtnut.com/l/_Es3o9WYWibUm


110. Write the coefficients of  in each of the following: 

Watch Video Solution

x2 x2 + x
π

2

111. Write the coefficients of  in each of the following: 

Watch Video Solution

x2 √2x − 1

112. Give one example each of a binomial of degree 35, and of a

monomial of degree 100.

Watch Video Solution

113. Write the degree of each of the following polynomials

Watch Video Solution

5x3 + 4x2 + 7x

https://dl.doubtnut.com/l/_Es3o9WYWibUm
https://dl.doubtnut.com/l/_QXpbF08gyHjZ
https://dl.doubtnut.com/l/_mroq3oU5FDMN
https://dl.doubtnut.com/l/_z01rSfwvy6Mi
https://dl.doubtnut.com/l/_VRk2XoXKnHpT


114. Write the degree of each of the following polynomials

Watch Video Solution

4 − y2

115. Write the degree of each of the following polynomials

Watch Video Solution

5t − √7

116. Write the degree of each of the following polynomials

3?

Watch Video Solution

https://dl.doubtnut.com/l/_VRk2XoXKnHpT
https://dl.doubtnut.com/l/_03ZEXPBlZusj
https://dl.doubtnut.com/l/_Nt2TvBqhuseD
https://dl.doubtnut.com/l/_fcUMVgOxajK4


117. Classify the following is linear, quadratic and cubic polynomial

?

Watch Video Solution

x2 + x

118. Classify the following as linear, quadratic and cubic polynomial :

.

Watch Video Solution

x − x3

119. Classify the following as linear, quadratic and cubic polynomial :

.

Watch Video Solution

y + y2 + 4

120. Classify the following is linear, quadratic and cubic polynomial

1 + x2

https://dl.doubtnut.com/l/_CDgLEFouyges
https://dl.doubtnut.com/l/_p0XI4t32DWki
https://dl.doubtnut.com/l/_JfqXUaFivLDG
https://dl.doubtnut.com/l/_0v8LNHKL02Z2


Watch Video Solution

121. Classify the following is linear, quadratic and cubic polynomial

3t+2?

Watch Video Solution

122. Classify the following is linear, quadratic and cubic polynomial

Watch Video Solution

t2

123. Classify the following as linear, quadratic and cubic polynomial :

.

Watch Video Solution

7x3

https://dl.doubtnut.com/l/_0v8LNHKL02Z2
https://dl.doubtnut.com/l/_PDhPe1VZKY1y
https://dl.doubtnut.com/l/_f0rQLnRK3aH6
https://dl.doubtnut.com/l/_kzje9PUeqHb8
https://dl.doubtnut.com/l/_UoMqlprW721e


124. Find the value of the polynomial  at .

Watch Video Solution

5x − 4x2 + 3 x = 0

125. Find the value of the polynomial  at .

Watch Video Solution

5x − 4x2 + 3 x = − 1

126. Find the value of the polynomial  at .

Watch Video Solution

5x − 4x2 + 3 x = 2

127. Find  and  for the following polynomial : 

.

Watch Video Solution

p(0), p(1) p(2)

p(y) = y2 − y + 1

https://dl.doubtnut.com/l/_UoMqlprW721e
https://dl.doubtnut.com/l/_TRAOTf9BIsc7
https://dl.doubtnut.com/l/_4xyNHlJx2b3a
https://dl.doubtnut.com/l/_jySvIkcULqBd


128. Find  and  for the following polynomial : 

.

Watch Video Solution

p(0), p(1) p(2)

p(t) = 2 + t + 2t2 − t3

129. Find p(0), p(1) and p(4) for each of the following polynomials:

Watch Video Solution

p(x) = x3

130. Find p(0), p(1) and p(5) for each of the following polynomials:

Watch Video Solution

p(x) = (x − 1)(x + 1)

131. Verify whether the following is zero of the polynomial, indicated

against it : .p(x) = 3x + 1, x = −
1

3

https://dl.doubtnut.com/l/_W0NDHg5uSBe6
https://dl.doubtnut.com/l/_T4PfwChgxUjK
https://dl.doubtnut.com/l/_9gHB24SY682O
https://dl.doubtnut.com/l/_2Gp0UJRFrk1k


Watch Video Solution

132. Verify whether the following is zero of the polynomial, indicated

against it : .

Watch Video Solution

p(x) = 5x − π, x =
4
5

133. Verify whether the following is zero of the polynomial, indicated

against it : .

Watch Video Solution

p(x) = x2 − 1, x = 1, − 1

134. Verify whether the following is zero of the polynomial, indicated

against it : .

Watch Video Solution

p(x) = (x + 1)(x − 2), x = − 1, 2

https://dl.doubtnut.com/l/_2Gp0UJRFrk1k
https://dl.doubtnut.com/l/_x4KHijGwDKyE
https://dl.doubtnut.com/l/_ThWyoZYH5TM8
https://dl.doubtnut.com/l/_d9ZKg9886Vs8
https://dl.doubtnut.com/l/_44A0R5OlAu6A


135. Verify whether the following is zero of the polynomial, indicated

against it : .

Watch Video Solution

p(x) = x2, x = 0

136. Verify whether the following is zero of the polynomial, indicated

against it : .

Watch Video Solution

p(x) = lx + m, x = −
m

l

137. Verify whether the following is zero of the polynomial, indicated

against it : .

Watch Video Solution

p(x) = 3x2 − 1, x = − ,
1

√3

2

√3

138. Verify whether the following is zero of the polynomial, indicated

against it : .p(x) = 2x + 1, x =
1

2

https://dl.doubtnut.com/l/_44A0R5OlAu6A
https://dl.doubtnut.com/l/_9S1I6YaKyXTd
https://dl.doubtnut.com/l/_KJx1edCkUaZf
https://dl.doubtnut.com/l/_LzJ2CiAABOZd


Watch Video Solution

139. Find the zero of the polynomial in each of the following cases

p(x)=x+4

Watch Video Solution

140. Find the zero of the polynomial in each of the following cases

Watch Video Solution

p(x) = x − 5

141. Find the zero of the polynomial in each of the following cases

p(x)=2x-5

Watch Video Solution

https://dl.doubtnut.com/l/_LzJ2CiAABOZd
https://dl.doubtnut.com/l/_7dNoWynuuSsK
https://dl.doubtnut.com/l/_ZdOwLCQDUBwa
https://dl.doubtnut.com/l/_BrGhjgpWhJ4U


142. Find the zero of the polynomial in each of the following cases

p(x)=3x-2

Watch Video Solution

143. Find the zero of the polynomial in each of the following cases

p(x)=8x

Watch Video Solution

144. Find the zero of the polynomial in each of the following cases

, 

Watch Video Solution

p(x) = ax a ≠ 0

145. Find the zero of the polynomial in each of the following cases

p(x)=cx+d, c, , are real numbers.d ≠ 0

https://dl.doubtnut.com/l/_bLo2q9OVFnJ3
https://dl.doubtnut.com/l/_3GhfCUiMg4qI
https://dl.doubtnut.com/l/_97iA0FM5Y4dz
https://dl.doubtnut.com/l/_AwsFUdQONGY5


Watch Video Solution

146. Find the remainder when  divided by


x+1

Watch Video Solution

x3 + 3x2 + 3x + 1

147. Find the remainder when  divided by


Watch Video Solution

x3 + 3x2 + 3x + 1

x −
1

2

148. Find the remainder when  divided by


x-2

Watch Video Solution

x3 + 3x2 + 3x + 1

https://dl.doubtnut.com/l/_AwsFUdQONGY5
https://dl.doubtnut.com/l/_I25E0n2LoVDa
https://dl.doubtnut.com/l/_Td8rN2dQxYFl
https://dl.doubtnut.com/l/_glsADPSzyL2l
https://dl.doubtnut.com/l/_pyhGLrMbDcGI


149. Find the remainder when  is divided by : .

Watch Video Solution

x3 + 3x2 + 3x + 1 x + π

150. Find the remainder when  is divided by : 

.

Watch Video Solution

x3 + 3x2 + 3x + 1

5 + 2x

151. Using Remainder Theoren, find the remainder from

 is divided by x-a.

Watch Video Solution

x3 − ax2 + 2x − a

152. Check whether 7 + 3x is a factor of 

Watch Video Solution

3x3 + 7x

https://dl.doubtnut.com/l/_pyhGLrMbDcGI
https://dl.doubtnut.com/l/_SEpFmjqydOs5
https://dl.doubtnut.com/l/_2adpKf1wEIkR
https://dl.doubtnut.com/l/_vGivZreSfKu8
https://dl.doubtnut.com/l/_s3VfrA5LHBQS


153. Determine which of the following polynomials has (x + 1) a factor: 

Watch Video Solution

x3 + x2 + x + 1

154. Determine which of the following polynomials has (x+1) a factor:

Watch Video Solution

x4 + x3 + x2 + x + 1

155. Determine which of the following polynomials has (x+1) a factor:

Watch Video Solution

x4 + x3 + x2 + x + 1

156. Determine which of the following polynomials has (x + 1) a factor: 

x3 − x2 − (2 + √2)x + √2

https://dl.doubtnut.com/l/_s3VfrA5LHBQS
https://dl.doubtnut.com/l/_iiVjjOgaWyCd
https://dl.doubtnut.com/l/_iGQLPMpiwVTC
https://dl.doubtnut.com/l/_a67pA8FQxx8h


Watch Video Solution

157. Use the Factor Theorem to determine whether g(x) is a factor of

p(x) in each of the following cases:

Watch Video Solution

p(x) = 2x3 + x2 − 2x − 1, g(x) = x + 1

158. Use the Factor Theorem to determine whether g(x) is a factor of

p(x) in each of the following cases:

Watch Video Solution

p(x) = x3 + 3x2 + 3x + 1, g(x) = x + 2

159. Use the Factor Theorem to determine whether g(x) is a factor of

p(x) in each of the following cases:

p(x) = x3 − 4x2 + x + 6, g(x) = x − 3

https://dl.doubtnut.com/l/_a67pA8FQxx8h
https://dl.doubtnut.com/l/_LEZs5vgpdY18
https://dl.doubtnut.com/l/_UTdd434yHLM2
https://dl.doubtnut.com/l/_qKRTmHOnaMdR


Watch Video Solution

160. Find the value of k, if  is a factor of  of the following

case : .

Watch Video Solution

x − 1 p(x)

p(x) = x2 + x + k

161. Find the value of k, if  is a factor of  of the following case

: .

Watch Video Solution

x − 1 p(x)

p(x) = 2x2 + kx + √2

162. Find the value of k, if  is a factor of  of the following case

: .

Watch Video Solution

x − 1 p(x)

p(x) = kx2 − √2x + 1

https://dl.doubtnut.com/l/_qKRTmHOnaMdR
https://dl.doubtnut.com/l/_2mjc3I13lzUd
https://dl.doubtnut.com/l/_ZkAD4V6X0KtO
https://dl.doubtnut.com/l/_4gZuVlWJPHHd
https://dl.doubtnut.com/l/_sGGpVRQQ9jRq


163. Find the value of k, if x - 4 is a factor of p(x) in each of the

following cases: 

Watch Video Solution

p(x) = kx2 − 3x + k

164. Factorise : .

Watch Video Solution

12x2 − 7x + 1

165. Factorise : .

Watch Video Solution

2x2 + 7x + 3

166. The factors of  are :

Watch Video Solution

6x2 + 5x − 6

https://dl.doubtnut.com/l/_sGGpVRQQ9jRq
https://dl.doubtnut.com/l/_g7o0GUVxw0LZ
https://dl.doubtnut.com/l/_pzCquPIawADZ
https://dl.doubtnut.com/l/_Z6f5mewVbS2j


167. Factorise : .

Watch Video Solution

3x2 − x − 4

168. Factorise : .

Watch Video Solution

x3 − 2x2 − x + 2

169. Factorise : .

Watch Video Solution

x3 − 3x2 − 9x − 5

170. Factorise : .

Watch Video Solution

x3 + 13x2 + 32x + 20

https://dl.doubtnut.com/l/_uKCRQvtKl2Ti
https://dl.doubtnut.com/l/_CGWdg45Zrerd
https://dl.doubtnut.com/l/_nZMvNBvnqAUJ
https://dl.doubtnut.com/l/_WsOoYj47LPVA


171. Factorise : .

Watch Video Solution

2y3 + y2 − 2y − 1

172. Use the suitable identity to find the following product :

.

Watch Video Solution

(x + 4)(x + 10)

173. Use the suitable identity to find the following product :

.

Watch Video Solution

(x + 8)(x − 10)

174. Use suitable identify to find the following products:

(3x+2)(3x-1)

W t h Vid S l ti

https://dl.doubtnut.com/l/_LebfwgTsYkau
https://dl.doubtnut.com/l/_0ifMOf0aRhvE
https://dl.doubtnut.com/l/_yhrMnRxhY6A0
https://dl.doubtnut.com/l/_togRPjTEKKwl


Watch Video Solution

175. Use the suitable identity to find the following product :

.

Watch Video Solution

(y2 + )(y2 − )
3

2

3

2

176. Use the suitable identity to find the following product :

.

Watch Video Solution

(3 − 2x)(3 + 2x)

177. Evaluate the following product without multiplying directly :

.

Watch Video Solution

103 × 107

https://dl.doubtnut.com/l/_togRPjTEKKwl
https://dl.doubtnut.com/l/_ASI9amVqoAK6
https://dl.doubtnut.com/l/_1WyAx3GNQrs7
https://dl.doubtnut.com/l/_GwTG8DbKbNcF


178. Evaluate the following product without multiplying directly :

.

Watch Video Solution

95 × 96

179. Evaluate the following product without multiplying directly :

.

Watch Video Solution

104 × 96

180. Factorise the following using appropriate identities :

.

Watch Video Solution

9x2 + 6xy + y2

181. Factorise the following using appropriate identities : 

.

4y2 − 4y + 1

https://dl.doubtnut.com/l/_IHVbdHhlNiYf
https://dl.doubtnut.com/l/_qt3zeYmJ6GSa
https://dl.doubtnut.com/l/_Gtueso58ZWKC
https://dl.doubtnut.com/l/_3xCUXMVwKBVG


Watch Video Solution

182. Factorise the following using appropriate identities : .

Watch Video Solution

x2 −
y2

100

183. Expand each of the following, using suitable identifies :

Watch Video Solution

(2x − y + 2)
2

184. Expand each of the following, using suitable identifies :

Watch Video Solution

(2x − y + 2)
2

https://dl.doubtnut.com/l/_3xCUXMVwKBVG
https://dl.doubtnut.com/l/_wjI9BKVH9g1Y
https://dl.doubtnut.com/l/_yFDsbTEKOPSs
https://dl.doubtnut.com/l/_0olhEddT8Uw6


185. Expand the following using suitable Identities :

.

Watch Video Solution

( − 2x + 3y + 2z)2

186. Expand the following using suitable Identities : .

Watch Video Solution

(3a − 7b − c)2

187. Expand the following using suitable Identities :

.

Watch Video Solution

( − 2x + 5y − 3z)2

188. Expand the following using suitable Identities : .

Watch Video Solution

[ a − b + 1]
2

1

4

1
2

https://dl.doubtnut.com/l/_PCP59LUsE5tY
https://dl.doubtnut.com/l/_aV6d8WJ8hyrH
https://dl.doubtnut.com/l/_L3J9PJu033SP
https://dl.doubtnut.com/l/_PlyEfMxKQ8qH


189. Factorise : .

Watch Video Solution

4x2 + 9y2 + 16z2 + 12xy − 24yz − 16xz

190. Factorise : .

Watch Video Solution

2x2 + y2 + 8z2 − 2√2xy + 4√2yz − 8xz

191. Write the following cube in expanded : .

Watch Video Solution

(2x + 1)
3

192. Write the following cube in expanded : .

Watch Video Solution

(2a − 3b)
3

https://dl.doubtnut.com/l/_PlyEfMxKQ8qH
https://dl.doubtnut.com/l/_wzSWHGnPu7Uo
https://dl.doubtnut.com/l/_x8v6K8yelJ9m
https://dl.doubtnut.com/l/_FCsMynUKwIbW
https://dl.doubtnut.com/l/_BBcYUZ3KAOBK
https://dl.doubtnut.com/l/_CU2FFjX2fR5M


193. Write the following cube in expanded : .

Watch Video Solution

[ x + 1]
33

2

194. Write the following cube in expanded : .

Watch Video Solution

[x − y]
3

2

3

195. Evaluate the following using suitable identity : .

Watch Video Solution

(99)
3

196. Evaluate the following using suitable identity : .

Watch Video Solution

(102)
3

197. Evaluate: (998)3

https://dl.doubtnut.com/l/_CU2FFjX2fR5M
https://dl.doubtnut.com/l/_za6L7k869cVC
https://dl.doubtnut.com/l/_qQLg4MzoWXFr
https://dl.doubtnut.com/l/_ar64JkfqchjV
https://dl.doubtnut.com/l/_6WOxNHkNnc1z


Watch Video Solution

198. Factorise each of the following: 

Watch Video Solution

8a3 − b3 − 12a2b + 6ab2

199. Factorise each of the following: 

Watch Video Solution

8a3 − b3 − 12a2b + 6ab2

200. Factorise the following : .

Watch Video Solution

27 − 125a3 − 135a + 225a2

201. Factorise the following : .

Watch Video Solution

64a3 − 27b3 − 144a2b + 108ab2

https://dl.doubtnut.com/l/_6WOxNHkNnc1z
https://dl.doubtnut.com/l/_0EiXs1WxwC7v
https://dl.doubtnut.com/l/_6fDhc7ogmWac
https://dl.doubtnut.com/l/_KIeVrRgjUYvv
https://dl.doubtnut.com/l/_iTJok2alHOnd


202. Factorise the following : .

Watch Video Solution

27p3 − − p2 + p
1

216

9

2

1

4

203. Verify : .

Watch Video Solution

x3 + y3 = (x + y)(x2 − xy + y2)

204. Verify : .

Watch Video Solution

x3 − y3 = (x − y)(x2 + xy + y2)

205. Factorise each of the following: 

Watch Video Solution

27y3 + 125x3

https://dl.doubtnut.com/l/_iTJok2alHOnd
https://dl.doubtnut.com/l/_YV7UbjdCMUhV
https://dl.doubtnut.com/l/_fomBeWzIA6Nc
https://dl.doubtnut.com/l/_JhFexBV37xUd
https://dl.doubtnut.com/l/_VRa21iCyB1uT


206. Factorise the following : .

Watch Video Solution

64m3 − 343n3

207. Factorise : .

Watch Video Solution

27x3 + y3 + z3 − 9xyz

208. Verify that

Watch Video Solution

x3 + y3 + z3 − 3xyz = (x + y + z)[(x − y)2 + (y − z)2 + (z − x)2]
1

2

209. If , show that .

Watch Video Solution

x + y + z = 0 x3 + y3 + z3 = 3xyz

https://dl.doubtnut.com/l/_vtiHptQ1d1fu
https://dl.doubtnut.com/l/_D0G6LUyyP2UB
https://dl.doubtnut.com/l/_RiAeMecxIVCY
https://dl.doubtnut.com/l/_BARMHhW3Ursg
https://dl.doubtnut.com/l/_kR6t1BMnl7nP


210. Without actually calculating the cubes, find the value of each of

the following: 

Watch Video Solution

( − 12)3 + (7)3 + (5)3

211. Without actually calculating the cubes, find the value of each of

the following: 

Watch Video Solution

(28)3 + ( − 15)3 + ( − 13)3

212. Give possible expressions for the length and breadth of each of

the following rectangles, in which their areas are given: Area :

Watch Video Solution

25a2 − 35a + 12

https://dl.doubtnut.com/l/_kR6t1BMnl7nP
https://dl.doubtnut.com/l/_alRs2cxqPEYl
https://dl.doubtnut.com/l/_Qo5DmLuoSPRF


213. Give possible expressions for the length and breadth of each of

the following rectangles, in which their areas are given: Area :

Watch Video Solution

35y2 + 13y − 12

214. What are the possible expressions for the dimensions of the

cuboids whose volumes are given below? Volume : 

Watch Video Solution

3x2 − 12x

215. What are the possible expressions for the dimensions of the

cuboids whose volumes are given below? Volume : 

Watch Video Solution

12ky2 + 8ky– 20k

https://dl.doubtnut.com/l/_Zt7RE7St1cSb
https://dl.doubtnut.com/l/_6jJNTQjsDvLk
https://dl.doubtnut.com/l/_g1EKqhTBd09M


216. Which of the following expressions are polynomials? Justify your

answer:

8?

Watch Video Solution

217. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

√3x2 − 2x

218. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

1 − √5x

https://dl.doubtnut.com/l/_USNvO2cfchtZ
https://dl.doubtnut.com/l/_WSkf7whqMNXx
https://dl.doubtnut.com/l/_3z5ByFOylDkQ


219. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

+ 5x + 7
1

5x2

220. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

(x − 2)(x − 4)

x

221. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

1

x + 1

https://dl.doubtnut.com/l/_UWmhamou6b8G
https://dl.doubtnut.com/l/_oyMx3qrUYvF6
https://dl.doubtnut.com/l/_1hvi0JSfOOz1


222. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

a3 − a2 + 4a − 7
1

7

2

√3

223. Which of the following expressions are polynomials? Justify your

answer:

Watch Video Solution

1

2x

224. A binomial can have atmost two terms.

Watch Video Solution

https://dl.doubtnut.com/l/_rWhNoKJfabUf
https://dl.doubtnut.com/l/_iohav9wPvwGc
https://dl.doubtnut.com/l/_qolFuw6hUniK


225. Every polynomial is a binomial.

Watch Video Solution

226. A binomial may have degree 5.

Watch Video Solution

227. Zero of a polynomial is always 0.

Watch Video Solution

228. A polynomial cannot have more than one zero.

Watch Video Solution

https://dl.doubtnut.com/l/_L7SJ0s5VoXDq
https://dl.doubtnut.com/l/_Jn1038OYahkz
https://dl.doubtnut.com/l/_chFbyP3GaUzg
https://dl.doubtnut.com/l/_41oSicUtXG64


229. The degree of the sum of two polynomials each of degree 5 is

always 5.

Watch Video Solution

230. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

x2 − 2tx − x + 3

231. Classify the following polynomials as polynomials in one variable,

two variables etc:

Watch Video Solution

y3 − 5y

https://dl.doubtnut.com/l/_UfbbD76NRzO3
https://dl.doubtnut.com/l/_i54aJu8I1siZ
https://dl.doubtnut.com/l/_37M3IQr1HG4B


232. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

xy + 2yz + 3zx

233. Classify the following polynomials as polynomials in one variable,

two variables, etc:

Watch Video Solution

x2 − 2tx − x + 3

234. Determine the degree of each of the following polynomials

2x-1

Watch Video Solution

https://dl.doubtnut.com/l/_kVzumQpqyKDj
https://dl.doubtnut.com/l/_GMe7pR0vEoax
https://dl.doubtnut.com/l/_O4rDnbyIgbDa


235. Determine the degree of each of the following polynomials

-10?

Watch Video Solution

236. Determine the degree of each of the following polynomials

Watch Video Solution

x3 − 9x + 3x5

237. Determine the degree of each of the following polynomials

Watch Video Solution

y3(1 − y4)

https://dl.doubtnut.com/l/_rkPFOqn4CZ2m
https://dl.doubtnut.com/l/_Fsb3GQaI4Fpe
https://dl.doubtnut.com/l/_CAT3Crqop3RM


238. For the polynomial

, write the degree of the polynomial?

Watch Video Solution

− x3 − x6x3 + 2x + 1

5
7
2

239. For the polynomial

, write


the coefficient of .

Watch Video Solution

− x2 − x6x3 + 2x + 1

5

7
2

x3

240. For the polynomial

, write


the coefficient of 

Watch Video Solution

− x2 − x6x3 + 2x + 1
5

7
2

x6

https://dl.doubtnut.com/l/_aKjP0amdyDLi
https://dl.doubtnut.com/l/_TfmlrWQsqkeT
https://dl.doubtnut.com/l/_RsMDyd4N1u5k
https://dl.doubtnut.com/l/_vBVGp0nWs2nG


241. For the polynomial

, write


the constant term.

Watch Video Solution

− x2 − x6x3 + 2x + 1

5
7
2

242. Write the coefficient of  in each of the following


Watch Video Solution

x2

x + x2 − 1
π

6

243. Write the coefficient of  in each of the following


Watch Video Solution

x2

3x − 5

https://dl.doubtnut.com/l/_vBVGp0nWs2nG
https://dl.doubtnut.com/l/_LQVHQII9y0QS
https://dl.doubtnut.com/l/_KLdHoxTjX8pY


244. Write the coefficient of  in each of the following


(x-1)(3x-4)

Watch Video Solution

x2

245. Write the coefficient of  in each of the following


Watch Video Solution

x2

(2x − 5)(2x2 − 3x + 1)

246. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

2 − x2 + x3

https://dl.doubtnut.com/l/_A9EIJ3OE8Mez
https://dl.doubtnut.com/l/_Pj5vNhW6N3Ea
https://dl.doubtnut.com/l/_LIU37lkKeVBz


247. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

3x3

248. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

5t − √7

249. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

4 − 5y2

https://dl.doubtnut.com/l/_KkSnNVddrZrS
https://dl.doubtnut.com/l/_WuYOeIGGpITQ
https://dl.doubtnut.com/l/_VkFQ0VMe864w


250. Classify the following as a constant, linear, quadratic and cubic

polynomials

3

Watch Video Solution

251. Classify the following as a constant, linear, quadratic and cubic

polynomials

2+x

Watch Video Solution

252. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

y3 − y

https://dl.doubtnut.com/l/_Q6ICCK38gXW4
https://dl.doubtnut.com/l/_bKGxqEEZytS1
https://dl.doubtnut.com/l/_K8UOGj0n4xmK


253. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

1 + x + x2

254. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

t2

255. Classify the following as a constant, linear, quadratic and cubic

polynomials

Watch Video Solution

√2x − 1

https://dl.doubtnut.com/l/_ISwmthA2ut83
https://dl.doubtnut.com/l/_CYVJejGu4jmQ
https://dl.doubtnut.com/l/_bmjMkGDAV1gn


256. Give an example of a polynomial, which is:

monomial of degree 1

Watch Video Solution

257. Give an example of a polynomial, which is:

binomial of degree 20

Watch Video Solution

258. Give an example of a polynomial, which is:

trinomial of degree 2.

Watch Video Solution

259. Find the value of the polynomial , when x=3

and also when x=-3.

3x3 − 4x2 + 7x − 5

https://dl.doubtnut.com/l/_uHs10zWHgXYz
https://dl.doubtnut.com/l/_cm5RSqELoL6t
https://dl.doubtnut.com/l/_c13G9w7Pi7ia
https://dl.doubtnut.com/l/_Q12AVbpRZHBm


Watch Video Solution

260. If  evaluate


Watch Video Solution

p(x) = x2 − 4x + 3

p(2) − p( − 1) + p( )
1

2

261. Find p(0),p(1),p(-2) for the following polynomal

Watch Video Solution

p(x) = 10x − 4x2 − 3

262. Find p(0),p(1),p(-2) for the following polynomal

Watch Video Solution

p(y) = (y + 2)(y − 2)

https://dl.doubtnut.com/l/_Q12AVbpRZHBm
https://dl.doubtnut.com/l/_w4HlcyWD9t0J
https://dl.doubtnut.com/l/_hvkAA9vlTyNY
https://dl.doubtnut.com/l/_v8xLLf9KSA5V
https://dl.doubtnut.com/l/_Am3D6lJfxU9A


263. Verify whether the following are True/false

-3 is a zero of x-3.

Watch Video Solution

264. Verify whether the following are True/false

 is a zero of 3x+1

Watch Video Solution

−
1

3

265. Verify whether the following are True/false

 is a zero of 4-5y

Watch Video Solution

−
4

5

266. Verify whether the following are True/false

0 and 2 are the zeroes of t2 − 2t

https://dl.doubtnut.com/l/_Am3D6lJfxU9A
https://dl.doubtnut.com/l/_F5tCCx3m5YGG
https://dl.doubtnut.com/l/_Uy1yrS093T4V
https://dl.doubtnut.com/l/_x4dhjpBeWD0s


Watch Video Solution

267. Verify whether the following are True/false

-3 is a zero of 

Watch Video Solution

y2 + y − 6

268. Find the zeroes of the polynomial in each of the following

p(x)=x-4

Watch Video Solution

269. Find the zeroes of the polynomial in each of the following

g(x)=3-6x

Watch Video Solution

https://dl.doubtnut.com/l/_x4dhjpBeWD0s
https://dl.doubtnut.com/l/_5UZXqrqpn4VW
https://dl.doubtnut.com/l/_JYVUqkebcdPx
https://dl.doubtnut.com/l/_g9WN1G5F594Y


270. Find the zeroes of the polynomial in each of the following

q(x)=2x-7

Watch Video Solution

271. Find the zeroes of the polynomial in each of the following

h(y)=2y

Watch Video Solution

272. Find the zeroes of the polynomal

p(x)=

Watch Video Solution

(x − 2)2 − (x + 2)2

273. By actual division, find the quotient and the remainder when the

first polynomial is divided by the second polynomial:

https://dl.doubtnut.com/l/_kjzJzkQ5E26p
https://dl.doubtnut.com/l/_ooC3BbjgHxXX
https://dl.doubtnut.com/l/_LL9cGzgGb8YX
https://dl.doubtnut.com/l/_bWQyg2k1uiG6


Watch Video Solution

x4 + 1, x − 1

274. By remainder Theoren, find the remainder, when p(x) is divided by

g(x) where

Watch Video Solution

p(x) = x3 − 2x2 − 4x − 1, g(x) = x + 1

275. By remainder Theoren, find the remainder, when p(x) is divided by

g(x) where

Watch Video Solution

p(x) = x3 − 3x2 + 4x + 50, g(x) = x − 3

https://dl.doubtnut.com/l/_bWQyg2k1uiG6
https://dl.doubtnut.com/l/_sZKma3UqR8Qq
https://dl.doubtnut.com/l/_EsHIMY3udztj


276. By remainder Theoren, find the remainder, when p(x) is divided by

g(x) where

Watch Video Solution

p(x) = 4x3 − 12x2 + 14x − 3, g(x) = 2x − 1

277. By remainder Theoren, find the remainder, when p(x) is divided by

g(x) where

.

Watch Video Solution

p(x) = x3 − 6x2 + 2x − 4, g(x) = 1 − x
3

2

278. Check whether p(x) is a multiple of g(x) or not:

Watch Video Solution

p(x) = x3 − 5x2 + 4x − 3, g(x) = x − 2

https://dl.doubtnut.com/l/_uF1vVTaxRu4r
https://dl.doubtnut.com/l/_lkamYymo1PZM
https://dl.doubtnut.com/l/_GSorRjc6CilX


279. Check whether p(x) is a multiple of g(x) or not:

Watch Video Solution

p(x) = 2x3 − 11x2 − 4x + 5' g(x) = 2x + 1

280. Show that:

x+3 is a factor of 

Watch Video Solution

69 + 11x − x2 + x3

281. Show that:

2x-3 is a factor of 

Watch Video Solution

x + 2x3 − 9x2 + 12

282. Determine which of the following polynomial has (x-2) as a factor:

3x2 + 6x − 24

https://dl.doubtnut.com/l/_8J1hLetAAeCj
https://dl.doubtnut.com/l/_gWKM0F2PSxUh
https://dl.doubtnut.com/l/_eJWIyhkgoCMj
https://dl.doubtnut.com/l/_qwDSpicUwzXQ


Watch Video Solution

283. Determine which of the following polynomial has (x-2) as a factor:

Watch Video Solution

4x2 + x − 2

284. Show that p-1 is a factor of  and also 

Watch Video Solution

p10 − 1 p11 − 1

285. For what value of m is  divisible by x+2?

Watch Video Solution

x3 − 2mx2 + 16

286. If x+2a is a factor of  find a.x5 − 4a2x3 + 2x + 2a + 3

https://dl.doubtnut.com/l/_qwDSpicUwzXQ
https://dl.doubtnut.com/l/_KiMSGTqsGm5w
https://dl.doubtnut.com/l/_HCMlutibEhe9
https://dl.doubtnut.com/l/_rdfsiByYgxlI
https://dl.doubtnut.com/l/_O1dkm8dvwlLA


Watch Video Solution

287. Find the value of m so that 2x-1 be a factor

Watch Video Solution

8x4 + 4x3 − 16x2 + 10x + m

288. If x+1 is a factor of  find the value of a

Watch Video Solution

ax3 + x2 − 2x + 4a − 9

289. Factorize:

Watch Video Solution

x2 + 9x + 18

https://dl.doubtnut.com/l/_O1dkm8dvwlLA
https://dl.doubtnut.com/l/_z9WbBYZPdnPD
https://dl.doubtnut.com/l/_SkhKSZKSAUIv
https://dl.doubtnut.com/l/_Yx0y47B4s4xB


290. Factorise:

Watch Video Solution

6x2 + 7x − 3

291. Factorize:

Watch Video Solution

2x2 − 7x + 5

292. Factorize:

Watch Video Solution

8 − 2r − 2r2

293. Factorize:

2x3 − 3x2 − 17x + 30

https://dl.doubtnut.com/l/_vlPwEJDr7uJe
https://dl.doubtnut.com/l/_AH9vbYa8Lsw8
https://dl.doubtnut.com/l/_jONSuPSvpJzK
https://dl.doubtnut.com/l/_n5wXSPAwkmyI


Watch Video Solution

294. Factorize:

Watch Video Solution

x3 − 6x2 + 11x − 6

295. Factorize the following expressions

Watch Video Solution

x3 + x2 − 4x − 4

296. Factorize:

Watch Video Solution

3x3 − x2 − 3x + 1

https://dl.doubtnut.com/l/_n5wXSPAwkmyI
https://dl.doubtnut.com/l/_SuxF3isEIGlG
https://dl.doubtnut.com/l/_vhOUkBucL3r9
https://dl.doubtnut.com/l/_975J6yPCdNh3
https://dl.doubtnut.com/l/_RskNRT2hFlVZ


297. Using suitable identity, evaluate the following

Watch Video Solution

1033

298. Using suitable identity, evaluate the following

Watch Video Solution

101 × 102

299. Using suitable identity, evaluate the following

Watch Video Solution

9992

300. Factorize the following

4x2 + 20x + 25

https://dl.doubtnut.com/l/_RskNRT2hFlVZ
https://dl.doubtnut.com/l/_86jG2CGPi6i1
https://dl.doubtnut.com/l/_ORfyRTxkFKq8
https://dl.doubtnut.com/l/_XNv5uaXjX0uH


Watch Video Solution

301. Factorize the following

Watch Video Solution

9y2 − 66yz + 121z2

302. Factorize the following

Watch Video Solution

(2x + )
2

− (x − )
2

1

3

1
2

303. Factorize the following

Watch Video Solution

9x2 − 12x + 3

https://dl.doubtnut.com/l/_XNv5uaXjX0uH
https://dl.doubtnut.com/l/_TooChmgkkFNA
https://dl.doubtnut.com/l/_jJYvZhg63lrZ
https://dl.doubtnut.com/l/_rGGlDzgvewdy


304. Factorize the following

Watch Video Solution

9x2 − 12x + 4

305. Expand the following

Watch Video Solution

(4a − b + 2c)2

306. Expand the following

Watch Video Solution

(3a − 5b − c)2

307. Factorize the following

( − x + 2y − 3z)2

https://dl.doubtnut.com/l/_dPphuD3ysK2z
https://dl.doubtnut.com/l/_sQVwM3ynsFfF
https://dl.doubtnut.com/l/_sn2mYNV4O5sQ
https://dl.doubtnut.com/l/_5XFaIrkjfTi5


Watch Video Solution

308. Factorize the following

Watch Video Solution

9x2 + 4y2 + 16z2 + 12xy − 16yz − 24xz

309. Factorize the following

Watch Video Solution

25x3 + 16y2 + 4z2 − 40zy + 16yz − 20xz

310. Factorize the following

Watch Video Solution

16x2 + 4y2 + 9z2 − 16xy − 12yz + 24xz

https://dl.doubtnut.com/l/_5XFaIrkjfTi5
https://dl.doubtnut.com/l/_WpqaKT878fHx
https://dl.doubtnut.com/l/_juAVZIyuqsOB
https://dl.doubtnut.com/l/_xgLpV7iBvOc0
https://dl.doubtnut.com/l/_PvDqYvNfWJ5q


311. If a+b+c=9 and ab+bc+ca=26, find the values of 

Watch Video Solution

a2 + b2 + c2

312. Expand the following

Watch Video Solution

(3a − 2b)3

313. Expand the following

Watch Video Solution

( + )
3

1

x

y

3

314. Expand the following

Watch Video Solution

(4 − )
31

3x

https://dl.doubtnut.com/l/_PvDqYvNfWJ5q
https://dl.doubtnut.com/l/_owZt96SnCFPV
https://dl.doubtnut.com/l/_ki8IzINp7e7y
https://dl.doubtnut.com/l/_FPpbpygNI6rB


315. Factorise the following

Watch Video Solution

1 − 64a3 − 12a + 48a2

316. Factorise the following

Watch Video Solution

8p3 + p[ ^ 2 + p +
12

5

6

25

1

125

317. Factorise the following

Watch Video Solution

1 + 64x3

https://dl.doubtnut.com/l/_FPpbpygNI6rB
https://dl.doubtnut.com/l/_pPleUAqoiJhZ
https://dl.doubtnut.com/l/_6rAd1niQIMHd
https://dl.doubtnut.com/l/_tN4eA5mUnD7Q


318. Factorise the following

Watch Video Solution

a3 − 2√2b3

319. Find the following products:

Watch Video Solution

( + 2y)( − xy + 4y2)
x

2

x2

4

320. Find the following products:

Watch Video Solution

(x2 − 1)(x4 + x2 + 1)

https://dl.doubtnut.com/l/_SfCrdLx9FIc6
https://dl.doubtnut.com/l/_Lu5KLbmHowFE
https://dl.doubtnut.com/l/_XkNv2TFSdQxF


321. Find the product

.

Watch Video Solution

(2x − y + 3z)(4x2 + y2 + 9z2 + 2xy + 3yz − 6xz)

322. Factorise the following

Watch Video Solution

a3 − 8b3 − 64c3 − 24abc

323. Factorise the following

Watch Video Solution

2√2a3 + 8b3 − 27c3 + 18√2abc

https://dl.doubtnut.com/l/_qQD4XqyND4K9
https://dl.doubtnut.com/l/_pjN5l6DRcSRX
https://dl.doubtnut.com/l/_HSIhUbuWjI57


324. Without actually calculating the cubes, find the value of:

Watch Video Solution

( )
3

+ ( )
3

− ( )
3

1
2

1

3

5

6

325. Without actually calculating the cubes, find the value of:

Watch Video Solution

(0.2)
3
− (0.3)

3
+ (0.1)

3

326. Without finding the cubes factorise

Watch Video Solution

(x − 2y)
3
+ (2y − 3z)

3
+ (3z − x)

3

327. If x+y+4=0, find the value of x3 + y3 − 12xy + 64

https://dl.doubtnut.com/l/_6WxUKtMJ9Sel
https://dl.doubtnut.com/l/_XscTmj81wX4c
https://dl.doubtnut.com/l/_HaEwdfa00B6k
https://dl.doubtnut.com/l/_TjrmTrP3i1j6


Watch Video Solution

328. Find the value of:

, when x=2y+6

Watch Video Solution

x3 − 8y3 − 36xy − 216

329. Give possible expressions for the length and breadth of the

rectangle whose area is given by 

Watch Video Solution

4a2 + 4a − 3

330. If the polynomials  are  leave the

same remainder when divided by z-3, find the value of a.

Watch Video Solution

az3 + 4z2 + 3z − 4 z3 − 4z + a

https://dl.doubtnut.com/l/_TjrmTrP3i1j6
https://dl.doubtnut.com/l/_prJb7wHue3Tt
https://dl.doubtnut.com/l/_zsIejHWw4hg9
https://dl.doubtnut.com/l/_9ktaQ8QNnTGU


331. The polynomial  when divided

by x+1 leaves the remainder 19. find the value of a. also find the

remainder when p(x) is divided by x+2.

Watch Video Solution

p(x) = x4 − 2x3 + 3x2 + 3a − 7

332. If both (x-2) and  are factors of , prove

that p=r.

Watch Video Solution

(x − )
1

2
px2 + 5x + r

333. Without actual division, prove that:

 is exactly divisible by 

Watch Video Solution

(2x4 − 6x3 + 3x2 + 3x − 2) (x2 − 3x + 2)

https://dl.doubtnut.com/l/_brTmxR2rJfbo
https://dl.doubtnut.com/l/_DqMvRQBt5qvj
https://dl.doubtnut.com/l/_YdTTGMOGlrio


334. Simplify : 

Watch Video Solution

(2x + 5)2– (2x– 5)2

335. Multiply  by (-z+x-2y).

Watch Video Solution

x2 + 4y2 + z2 + 2xy + xz − 2yz

336. If a,b,c are all non-zero and a+b+c=0, prove that

.

Watch Video Solution

+ + = 3
a2

bc

b2

ca

c2

ab

337. If a+b+c=5 and ab+bc+ca=10, prove that

Watch Video Solution

a3 + b3 + c3 − 3abc = − 25

https://dl.doubtnut.com/l/_PtMAC2lDjS0S
https://dl.doubtnut.com/l/_g9kyAuXXuBV0
https://dl.doubtnut.com/l/_VRXialpxy4qY
https://dl.doubtnut.com/l/_x4yYTuFsFP26


Exercise

338. Prove that

Watch Video Solution

(a + b + c)
3
− a3 − b3 − c3 = 3(a + b)(b + c)(c + a)

1. Which of the following expressions are polynomial

Watch Video Solution

x2 − 5x + 7

2. Which of the following expressions are polynomial

Watch Video Solution

x3 − 5x2 + 9x + 11

https://dl.doubtnut.com/l/_x4yYTuFsFP26
https://dl.doubtnut.com/l/_p1CRcU39PrYI
https://dl.doubtnut.com/l/_uByTPwFZJfuA
https://dl.doubtnut.com/l/_SWuXQUNwH9KQ
https://dl.doubtnut.com/l/_gdAaSsLine9l


3. Which of the following expressions are polynomial

Watch Video Solution

23√2

4. Which of the following expressions are polynomial

Watch Video Solution

x + + 2
5

x

5. Which of the following expressions are polynomial

Watch Video Solution

x2 + 5 + x4 + x3

6. Which of the following expressions are polynomial

-11

https://dl.doubtnut.com/l/_gdAaSsLine9l
https://dl.doubtnut.com/l/_sUYm5LyNd6NT
https://dl.doubtnut.com/l/_hgcwc8uRKoYm
https://dl.doubtnut.com/l/_6v8NA2ks2hDz


Watch Video Solution

7. Which of the following expressions are polynomial

Watch Video Solution

5π

6

8. Which of the following expressions are polynomial

Watch Video Solution

3x2 + 8x

9. Write the degree of each of the following polynomials

Watch Video Solution

3x − √7

https://dl.doubtnut.com/l/_6v8NA2ks2hDz
https://dl.doubtnut.com/l/_mwYSrYfPLlXB
https://dl.doubtnut.com/l/_UFuF6FqAk9Qe
https://dl.doubtnut.com/l/_zu9QbBcc6Fmc
https://dl.doubtnut.com/l/_hVUpd6LiBhZW


10. Write the degree of each of the following polynomials

Watch Video Solution

8x2 + 5x + √11

11. Write the degree of each of the following polynomials

Watch Video Solution

x3 + 7x2 + 9x + 13

12. Write the degree of each of the following polynomials

Watch Video Solution

x4 + 2x2 + 9

13. Write the degree of each of the following polynomials

7

https://dl.doubtnut.com/l/_hVUpd6LiBhZW
https://dl.doubtnut.com/l/_QE77i9b2dbUm
https://dl.doubtnut.com/l/_sqah0TgzE7mt
https://dl.doubtnut.com/l/_LrtbIHuBohrG


Watch Video Solution

14. Write the degree of each of the following polynomials

?

Watch Video Solution

π

15. Write:

coefficient of x in .

Watch Video Solution

x3 + 7x2 + 9x + 11

16. Write:

coefficient of  in 

Watch Video Solution

x2 x4 + 7x3 + 9x2 + 11

https://dl.doubtnut.com/l/_LrtbIHuBohrG
https://dl.doubtnut.com/l/_6B6bVoF2vrH8
https://dl.doubtnut.com/l/_idw2i5RokHfI
https://dl.doubtnut.com/l/_FkthCiPeEfhR


17. Write:

coefficient of  in 

Watch Video Solution

x3 x4 + 5x3 + 7x2 + 9x + 11

18. Write:

coefficient of  in 

Watch Video Solution

x4 7x2 + 9x + 11x4 + 13

19. Classify the following polynomials as linear, quadratic, cubic and

biquadratic polynomials

3x-5?

Watch Video Solution

https://dl.doubtnut.com/l/_ZdzN6UUx32ZL
https://dl.doubtnut.com/l/_nwYLBPJIvIVJ
https://dl.doubtnut.com/l/_6xzPzck3a66N


20. Classify the following polynomials as linear, quadratic, cubic and

biquadratic polynomials

Watch Video Solution

x2 + 3x + 7

21. Classify the following polynomials as linear quadratic, cubic and

biquadratic polynomials

Watch Video Solution

3x + 5x3

22. Classify the following polynomials as linear quadratic, cubic and

biquadratic polynomials

5z

Watch Video Solution

https://dl.doubtnut.com/l/_sWzNr7qjV0zQ
https://dl.doubtnut.com/l/_qz1j99aqNyo1
https://dl.doubtnut.com/l/_1qhxWbqH1dSA


23. Classify the following polynomials as linear quadratic, cubic and

biquadratic polynomials

Watch Video Solution

t2 + 9

24. Classify the following polynomials as linear quadratic, cubic and

biquadratic polynomials

Watch Video Solution

7x4 + 5x3 + 7x2 − 2

25. Which of the following expressions are polynomial in one variable

and which are not? Give reasons your answer

Watch Video Solution

3x2 − 4x + 9

https://dl.doubtnut.com/l/_4H4JNXspQOjd
https://dl.doubtnut.com/l/_VWjj10sjG0Ro
https://dl.doubtnut.com/l/_WeFqzIA3prix


26. Which of the following expressions are polynomial in one variable

and which are not? Give reasons your answer

Watch Video Solution

y2 + √3

27. Which of the following expressions are polynomial in one variable

and which are not? Give reasons your answer

Watch Video Solution

3√t + t√5

28. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 

Watch Video Solution

y +
2

y

https://dl.doubtnut.com/l/_450N5qcNn0ya
https://dl.doubtnut.com/l/_xGGGSabsoxBY
https://dl.doubtnut.com/l/_ACNocSjocRIs


29. Which of the following expressions are polynomials in one variable

and which are not? State reasons for your answer:- 

Watch Video Solution

x10 + y3 + t50

30. Give an example of a

monomial of degree 11

Watch Video Solution

31. Give an example of a

binomial of degree 23.

Watch Video Solution

32. Give an example of a

trinomial of degree 7

https://dl.doubtnut.com/l/_VbSJNJNJ3Z9Y
https://dl.doubtnut.com/l/_xpQgmnrq1MNT
https://dl.doubtnut.com/l/_TNGhXfu6iUJ0
https://dl.doubtnut.com/l/_TcySpZu6WGsI


Watch Video Solution

33. If , find


p(0)?

Watch Video Solution

p(x) = 4 + 3x − x2 + 5x3

34. If , find


p(2)?

Watch Video Solution

p(x) = 4 + 3x − x2 + 5x3

35. If , find


p(-1)?

Watch Video Solution

p(x) = 4 + 3x − x2 + 5x3

https://dl.doubtnut.com/l/_TcySpZu6WGsI
https://dl.doubtnut.com/l/_WWxmSdcgfqCa
https://dl.doubtnut.com/l/_Bx9ADiYXT05m
https://dl.doubtnut.com/l/_4b1gfJ9d4cIh
https://dl.doubtnut.com/l/_ZT3gQNNof9S7


36. If p(x)= , find


p(2)?

Watch Video Solution

5 − 4x + 2x2

37. If p(x)= , find


p(-2)?

Watch Video Solution

5 − 4x + 2x2

38. If p(x)= , find


p(4)?

Watch Video Solution

5 − 4x + 2x2

39. Find the zeroes of the polynomial:

p(x)=x-4

https://dl.doubtnut.com/l/_ZT3gQNNof9S7
https://dl.doubtnut.com/l/_bIMvqm2IOfuP
https://dl.doubtnut.com/l/_nMNCVzaP7tPt
https://dl.doubtnut.com/l/_aHAM8d4UQNtE


Watch Video Solution

40. Find the zeroes of the polynomial:

Watch Video Solution

q(x) = x + 7

41. Find the zeroes of the polynomial:

r(x)=3x-4

Watch Video Solution

42. Find the zeroes of the polynomial:

s(x)=5-4x

Watch Video Solution

https://dl.doubtnut.com/l/_aHAM8d4UQNtE
https://dl.doubtnut.com/l/_guuAbahlkGql
https://dl.doubtnut.com/l/_LaUG2HHcUG6I
https://dl.doubtnut.com/l/_CZIbAMjAaOj3


43. Find the zeroes of the polynomial:

t(x)=px, 

Watch Video Solution

p ≠ 0

44. Find the zeroes of the polynomial:

Watch Video Solution

f(x) = p + qx(q ≠ 0)

45. Verify that:

-5 is a zero of the polynomial p(x)=x+5?

Watch Video Solution

46. Verify that:

 is a zero of the polynomial q(x)=2x+3−
1

2

https://dl.doubtnut.com/l/_akHTqKZHhO0o
https://dl.doubtnut.com/l/_mZRjoVSlvhZt
https://dl.doubtnut.com/l/_TReVPtApHJ5H
https://dl.doubtnut.com/l/_ECYzpy1aPelz


Watch Video Solution

47. Verify that

 is a zero of the polynoial q(x)=2-7x

Watch Video Solution

2

7

48. Verify that:

2 and 3 are zeroes of the polynomial:

p(x)=(x-2)(x-3)

Watch Video Solution

49. Verify that:

0 and 4 are zeroes of the polynomial:

Watch Video Solution

q(x) = x2 − 4x

https://dl.doubtnut.com/l/_ECYzpy1aPelz
https://dl.doubtnut.com/l/_EOPJ6tyG5i5k
https://dl.doubtnut.com/l/_TmsePodEBqOF
https://dl.doubtnut.com/l/_K7ajxfSL8xWX


50. If  is a zero of the polynomial 

, find the value of k.

Watch Video Solution

x = −
1

2

p(x) = 8x3 − kx2 − x + 2

51. If  is a zero of the polynomial 

 find the value of k.

Watch Video Solution

x =
4
3

p(x) = 6x3 − 11x2 + kx − 20

52. If x=0 and x=-1 are the zeroes of the polynomial

, find the value of a and b.

Watch Video Solution

p(x) = 2x3 − 3x2 + ax + b

https://dl.doubtnut.com/l/_K7ajxfSL8xWX
https://dl.doubtnut.com/l/_2O2h50pYG932
https://dl.doubtnut.com/l/_cDQmYSl2LF8Y
https://dl.doubtnut.com/l/_vz5UVyUfqRAL


53. Using Remainder Theoren, find the remainder from

 is divided by x-1

Watch Video Solution

x3 − 6x2 + 9x + 3

54. Using Remainder Theoren, find the remainder from

 is divided by x-a.

Watch Video Solution

x3 − ax2 + 2x − a

55. Using Remainder Theoren, find the remainder from

 is divided by x-1.

Watch Video Solution

4x4 − 3x3 − 2x2 + x − 7

56. Using Remainder Theoren, find the remainder from

 is divided by x+4.x3 + 4x2 − 3x + 10

https://dl.doubtnut.com/l/_UpyrKbYLTx1l
https://dl.doubtnut.com/l/_9jKCsfgN21B7
https://dl.doubtnut.com/l/_i1TgjTaKn9SS
https://dl.doubtnut.com/l/_7MVLfmWGNzk2


Watch Video Solution

57. Using Remainder Theoren, find the remainder from

 is divided by x+3.

Watch Video Solution

2x4 + 6x3 + 2x2 + x − 8

58. Using Remainder Theoren, find the remainder from

 is divided by 3x-1.

Watch Video Solution

x3 − 6x2 + 2x − 4

59. Using Remainder Theoren, find the remainder from

 is divided by 3x+2.

Watch Video Solution

81x4 + 54x3 − 9x2 − 3x + 2

https://dl.doubtnut.com/l/_7MVLfmWGNzk2
https://dl.doubtnut.com/l/_80UdlOp6amxh
https://dl.doubtnut.com/l/_k6NZEVBt6pJJ
https://dl.doubtnut.com/l/_au0gQNcDTXBQ
https://dl.doubtnut.com/l/_nwBq192WvDXU


60. The polynomial  and  when

divided by (x-4) leave the same remainder. Find the value of a.

Watch Video Solution

(ax3 + 3x2 − 3) (2x3 − 5x + a)

61. The polynomials  and  when

divided by (x-3) leave the same remainder. Find the value of a.

Watch Video Solution

(ax3 + 4x2 + 3x − 4) (x3 − 4x + a)

62. The polynomials  and  when

divided by (x+2) leave the same remainder. Find the value of a.

Watch Video Solution

(ax3 + 3x2 − 13) (2x3 − 5x + a)

63. The polynomials  when divided

by (x-1) and (x+1) leaves remainder 5 and 19 respectively. Find the value

f(x) = x4 − 2x3 + 3x2 − ax + b

https://dl.doubtnut.com/l/_nwBq192WvDXU
https://dl.doubtnut.com/l/_dyEE8CmU8TuQ
https://dl.doubtnut.com/l/_3q8pnxLh7vYH
https://dl.doubtnut.com/l/_kDVg6XtqX5u2


of a and b hence, find the remainder when f(x) is divided by (x-2)

Watch Video Solution

64. The polynomal  and 

when divided by (x-4) leave remainders  and  respectively. Find

the value of a when:

Watch Video Solution

f(x) = ax3 + 3x2 − 3 g(x) = 2x3 − 5x + a

R1 R2

R1 = R2

65. The polynomal  and 

when divided by (x-4) leave remainders  and  respectively. Find

the value of a when:

Watch Video Solution

f(x) = ax3 + 3x2 − 3 g(x) = 2x3 − 5x + a

R1 R2

R1 + R2 = 0

https://dl.doubtnut.com/l/_kDVg6XtqX5u2
https://dl.doubtnut.com/l/_qich7MKTCT4S
https://dl.doubtnut.com/l/_UBRrS9UHXBjD
https://dl.doubtnut.com/l/_LjZ3pI18tSTb


66. The polynomal  and 

when divided by (x-4) leave remainders  and  respectively. Find

the value of a when:

Watch Video Solution

f(x) = ax3 + 3x2 − 3 g(x) = 2x3 − 5x + a

R1 R2

2R1 − R2 = 0

67. Prove that:

(x-3) is a factor of .

Watch Video Solution

x3 + x2 − 17x + 15

68. Prove that:

(x-1) is a factor of 

Watch Video Solution

2x4 + 9x3 + 6x2 − 11x − 6

https://dl.doubtnut.com/l/_LjZ3pI18tSTb
https://dl.doubtnut.com/l/_IWF0X8ovjHaj
https://dl.doubtnut.com/l/_qKTijhuMpeBH


69. Prove that:

(x+5) is a factor of 

Watch Video Solution

x3 + x2 + 3x + 115

70. Prove that:

(x+3) is a factor of 

Watch Video Solution

x5 + 3x4 − x3 − 3x2

71. Prove that:

 is a factor of 

Watch Video Solution

(3x − 2) 3x3 + x2 − 20x + 12

72. Prove that:

(x-1) is a factor of 2x4 + 9x3 + 6x2 − 11x − 6

https://dl.doubtnut.com/l/_ApmCgyRj1efe
https://dl.doubtnut.com/l/_CzuXPn3i0WS7
https://dl.doubtnut.com/l/_4BhLkpEkAniT
https://dl.doubtnut.com/l/_bmdNx6kwy7Xa


Watch Video Solution

73. Prove that:

 is a factor of 

Watch Video Solution

(x − √2) (7x2 − 4√2x − 6)

74. Prove that:

 is a factor of 

Watch Video Solution

(x + √2) (2√2x2 + 5x + √2)

75. Prove that:

(x+1) and (2x-3) are factors of 

Watch Video Solution

2x3 − 9x2 + x + 12

https://dl.doubtnut.com/l/_bmdNx6kwy7Xa
https://dl.doubtnut.com/l/_8odMiW8tqtT7
https://dl.doubtnut.com/l/_HBNd6OWwH9QS
https://dl.doubtnut.com/l/_GZOoYtTQSrb1
https://dl.doubtnut.com/l/_M7Zj6bU5GuIG


76. Find the integral zeroes of the polynomial:

Watch Video Solution

p(x) = x3 + 6x2 + 11x + 6

77. Find the value of k if:

(x-k) is a factor of 

Watch Video Solution

x3 − k2x + x + 2

78. Find the value of k if

(x+3) is a factor of 

Watch Video Solution

3x3 + kx + 6

79. Prove that  is exactly divisible by (x3 − 3x2 − 13x + 15)

x2 + 2x − 3

https://dl.doubtnut.com/l/_M7Zj6bU5GuIG
https://dl.doubtnut.com/l/_hlLNwBPty8AK
https://dl.doubtnut.com/l/_osVFZGSpQ4b1
https://dl.doubtnut.com/l/_t9UJp0VQc8mh


Watch Video Solution

80. Prove that (x-1) is a factor of  and 

Watch Video Solution

x10 − 1 x11 − 1

81. Find the value of a and b so that the polynomial

 has (x-1) and (x+3)as factor.

Watch Video Solution

x3 − ax2 − 13x + b

82. If  has (x+2) as a factor and a remainder 4 when

divided by (x-2), find the vallues of a and b.

Watch Video Solution

ax3 + bx2 + x − 6

https://dl.doubtnut.com/l/_t9UJp0VQc8mh
https://dl.doubtnut.com/l/_HEteuhXXtGtG
https://dl.doubtnut.com/l/_fBVT9txC91Hh
https://dl.doubtnut.com/l/_4vIAL1iURKbC


83. If  is a factor of  if that

a+c+e=b+d=0

Watch Video Solution

(x2 − 1) ax4 + bx3 + cx2 + dx + e

84. If both (x+1) and (x-1) are factors of , find the values of

a and b.

Watch Video Solution

ax3 − 2x + b

85. find  and  if (x+1) and (x+2) are factors 

Watch Video Solution

α β x3 + 3x2 − 2αx + β

86. What must be added to  so the result is

exactly divisible by .

W t h Vid S l ti

3x3 + x2 − 22x + 9

3x2 + 7x − 12

https://dl.doubtnut.com/l/_sgskqfqB3WfA
https://dl.doubtnut.com/l/_IeuH94teCjwn
https://dl.doubtnut.com/l/_xh84QQz2tGzr
https://dl.doubtnut.com/l/_0zfmeLEQOVl7


Watch Video Solution

87. What must be substracted from  is so that the

result is exactly divisible by 

Watch Video Solution

x3 − 6x2 − 15x + 2

x2 + x + 2

88. Factorize the following expressions

Watch Video Solution

18x2y − 24xyz

89. Factorize the following expressions

Watch Video Solution

4(x + y) − 6(x + y)2

https://dl.doubtnut.com/l/_0zfmeLEQOVl7
https://dl.doubtnut.com/l/_LHH8691gV0D0
https://dl.doubtnut.com/l/_QsZ8jSCQLPUo
https://dl.doubtnut.com/l/_nByo7xRBu8XZ


90. Factorize the following expressions

Watch Video Solution

8(3a − 2b)2 − 10(3a − 2b)

91. Factorize the following expressions

Watch Video Solution

ax − 5b + ab − 5x

92. Factorize the following expressions

Watch Video Solution

x3 − x2 + ax + x − a − 1

93. Factorize the following expressions

p2 + pq(q + 1) + q3

https://dl.doubtnut.com/l/_vLvRxxTU5hwg
https://dl.doubtnut.com/l/_FjUfR1KVJ7b8
https://dl.doubtnut.com/l/_sDaYbkBDoSEu
https://dl.doubtnut.com/l/_GmDSS2ujwrH4


Watch Video Solution

94. Factorize the following expressions

Watch Video Solution

a(a − 2b − c) + 2bc

95. Factorize the following expressions

Watch Video Solution

x2 − (a + b)x + ab

96. Factorize the following expressions

Watch Video Solution

x2 + − 2 − 3x +
1

x2

3

x

https://dl.doubtnut.com/l/_GmDSS2ujwrH4
https://dl.doubtnut.com/l/_KfS9AS4mb2qg
https://dl.doubtnut.com/l/_Qprmf8zmsuBs
https://dl.doubtnut.com/l/_CVaLEoCRPeh6
https://dl.doubtnut.com/l/_IZcSfMzAkQUj


97. Factorize the following expressions

Watch Video Solution

4a2 + 12ab + 9b2 − 8a − 12b

98. Factorize the following expressions

Watch Video Solution

a(a + b)3 − 3a2b(a + b)

99. Factorize the following expressions

Watch Video Solution

a2x2 + (ax2 + 1) + a

100. Factorize the following expressions

27a2 − 48b2

https://dl.doubtnut.com/l/_IZcSfMzAkQUj
https://dl.doubtnut.com/l/_j9oZDrMF2jfk
https://dl.doubtnut.com/l/_Wkq7rtf8ZqjE
https://dl.doubtnut.com/l/_P5RSphzHSNsU


Watch Video Solution

101. Factorize the following expressions

Watch Video Solution

20x2 − 45

102. Factorize the following expressions

Watch Video Solution

(p + q)3 − p − q

103. Factorize the following expressions

Watch Video Solution

x2 − y2 + 6y − 9

https://dl.doubtnut.com/l/_P5RSphzHSNsU
https://dl.doubtnut.com/l/_NFuOz7q3cJYx
https://dl.doubtnut.com/l/_NdXa0AkqMrcO
https://dl.doubtnut.com/l/_MPd0U3X3ENnh


104. Factorize the following expressions

Watch Video Solution

x4 − 625

105. Factorize the following expressions

Watch Video Solution

x2 + 3√3x + 6

106. Factorize the following expressions

Watch Video Solution

4√3x2 + 5x − 2√3

107. Factorize the following expressions

7√2x2 − 10x − 4√2

https://dl.doubtnut.com/l/_z7QKPip00Fiz
https://dl.doubtnut.com/l/_xp3K17o8V9ED
https://dl.doubtnut.com/l/_6vxzNyHpRhqQ
https://dl.doubtnut.com/l/_5RmclwvU8JaO


Watch Video Solution

108. Factorize the following expressions

Watch Video Solution

9(x − 2y)2 − 4(x − 2y) − 13

109. Factorize the following expressions

Watch Video Solution

x3 − 6x2 + 11x − 6

110. Factorize the following expressions

Watch Video Solution

x3 + x2 − 4x − 4

https://dl.doubtnut.com/l/_5RmclwvU8JaO
https://dl.doubtnut.com/l/_6Vl1sHJVcI7q
https://dl.doubtnut.com/l/_FIxbiy2czeqQ
https://dl.doubtnut.com/l/_wo3rh4ilglzS
https://dl.doubtnut.com/l/_WNZ3WfE9xqiM


111. Factorize the following expressions

Watch Video Solution

(2a + 3b)2 + 2(2a + 3b)(2a − 3b) + (2a − 3b)2

112. Factorize the following expressions

Watch Video Solution

(x2 − 4x)(x2 − 4x − 1) − 20

113. Factorize the following expressions

Watch Video Solution

(a − b + c)2 + (b − c + a)2 + 2(a − b + c)(b − c + a)

114. Factorize the following expressions

7(x − 2y)2 − 25(x − 2y) − 12

https://dl.doubtnut.com/l/_WNZ3WfE9xqiM
https://dl.doubtnut.com/l/_1ohijjyiAFl0
https://dl.doubtnut.com/l/_bEOI5jd9QmrR
https://dl.doubtnut.com/l/_rmG0EUujHqPH


Watch Video Solution

115. Give possible expressions for the length and breadth of the

rectangle having  as its area.

Watch Video Solution

35x2 + 13x − 12

116. What are the possible expressions for its dimensions of the cuboid

whose volume ?

Watch Video Solution

3y2 − 12y

117. Expand:

Watch Video Solution

(x + 2y + 5z)2

https://dl.doubtnut.com/l/_rmG0EUujHqPH
https://dl.doubtnut.com/l/_ByUZtrCCILKA
https://dl.doubtnut.com/l/_mhSBJmnZx76R
https://dl.doubtnut.com/l/_DNlJl3jcf3nu


118. Expand:

Watch Video Solution

(x − 2y − 3z)2

119. Expand:

Watch Video Solution

(2x − 5y − 7z)2

120. Expand:

Watch Video Solution

( a − b + 2)
2

1
2

1

4

121. Factorise .4x2 + y2 + z2 − 4xy − 2yz + 4xz

https://dl.doubtnut.com/l/_REk3ZrM9EzFU
https://dl.doubtnut.com/l/_GuGFzZ2mJx2h
https://dl.doubtnut.com/l/_1gp1pkTtjb8i
https://dl.doubtnut.com/l/_3xmlQHsWRxIJ


Watch Video Solution

122. Factorise : .

Watch Video Solution

2x2 + y2 + 8z2 − 2√2xy + 4√2yz − 8xz

123. Factorize:

Watch Video Solution

25x2 + 4y2 + 9z2 − 20xy − 12yz + 30xz

124. Evaluate

Watch Video Solution

(92)
2

https://dl.doubtnut.com/l/_3xmlQHsWRxIJ
https://dl.doubtnut.com/l/_FXG7B6zptE1U
https://dl.doubtnut.com/l/_QZ1YEm4sxwvC
https://dl.doubtnut.com/l/_q83eZQvIDyTT


125. Evaluate

Watch Video Solution

(997)2

126. Expand:

Watch Video Solution

(3a + 2)3

127. Expand:

Watch Video Solution

(4x + 5y)3

https://dl.doubtnut.com/l/_e9qKiqQzXU9z
https://dl.doubtnut.com/l/_8hiTNq6hTGgw
https://dl.doubtnut.com/l/_qOmNOsMOU1Zf


128. Expand:

Watch Video Solution

( a + 1)
3

2

3

129. Expand:

Watch Video Solution

(5x − 3y)
3

130. Expand:

Watch Video Solution

(2x − )
32

x

https://dl.doubtnut.com/l/_cNOmIVjXiUK9
https://dl.doubtnut.com/l/_q4d1Ru8mvLv1
https://dl.doubtnut.com/l/_ZktEg6gyPi5t


131. Expand:

Watch Video Solution

( x − 2)
3

4

5

132. Evaluate

Watch Video Solution

(106)
3

133. Evaluate:

Watch Video Solution

(999)
3

https://dl.doubtnut.com/l/_afsqGrsPv9L0
https://dl.doubtnut.com/l/_oDwdGHQMYvBQ
https://dl.doubtnut.com/l/_0EMJ9mhLq5Wo


134. Factorize the following expressions

Watch Video Solution

x3 + 64

135. Factorize the following expressions

Watch Video Solution

8x3 + 125y3

136. Factorize the following expressions

Watch Video Solution

1 + 27x3

137. Factorize the following expressions

125x3 +
1

8

https://dl.doubtnut.com/l/_QNp8sKV2ZUhE
https://dl.doubtnut.com/l/_TZgi7tguRMnL
https://dl.doubtnut.com/l/_R4uQF43LaY9h
https://dl.doubtnut.com/l/_wpW7nz7uql4V


Watch Video Solution

138. Factorize the following expressions

Watch Video Solution

+ 216x31

64

139. Factorize the following expressions

Watch Video Solution

x3 + 0.008

140. Factorize the following expressions

Watch Video Solution

16a4 + 54a

https://dl.doubtnut.com/l/_wpW7nz7uql4V
https://dl.doubtnut.com/l/_hbSXYbjvTTkE
https://dl.doubtnut.com/l/_fBCZY9Syoiup
https://dl.doubtnut.com/l/_KE7pso2o1xTL
https://dl.doubtnut.com/l/_GYW9tN7NnVsC


141. Factorize the following expressions

Watch Video Solution

x5 + x2

142. Factorize the following expressions

Watch Video Solution

7x3 + 56y3

143. Factorize the following expressions

Watch Video Solution

a6 + b6

144. Factorize the following expressions

2x3 + 16y3 − 5x − 10y

https://dl.doubtnut.com/l/_GYW9tN7NnVsC
https://dl.doubtnut.com/l/_Fnio8Yjpgesu
https://dl.doubtnut.com/l/_bk5cDvXeECZM
https://dl.doubtnut.com/l/_iMCVtH7jWkkP


Watch Video Solution

145. Factorize the following expressions

Watch Video Solution

x3 − 64y3

146. Factorize the following expressions

Watch Video Solution

1 − 27a3

147. Factorize the following expressions

Watch Video Solution

64a3 − 343

https://dl.doubtnut.com/l/_iMCVtH7jWkkP
https://dl.doubtnut.com/l/_EHp9nrC9pmY6
https://dl.doubtnut.com/l/_QApjy3zDrlas
https://dl.doubtnut.com/l/_VDxivhFIlM7T


148. Factorize the following expressions

Watch Video Solution

8x3 −
1

27b3

149. Factorize the following expressions

Watch Video Solution

x3 − 0.064

150. Factorize the following expressions

Watch Video Solution

x − 8xy3

151. Factorize the following expressions

32x4 − 500x

https://dl.doubtnut.com/l/_Gj0Pk1II1vft
https://dl.doubtnut.com/l/_iVQcJVvACrh8
https://dl.doubtnut.com/l/_9dGn3oc2xExU
https://dl.doubtnut.com/l/_TIY42fUqc78P


Watch Video Solution

152. Factorize the following expressions

Watch Video Solution

3a7b − 81a4b4

153. Factorize the following expressions

Watch Video Solution

x6 − y6

154. Factorize the following expressions

Watch Video Solution

x6 − 729

https://dl.doubtnut.com/l/_TIY42fUqc78P
https://dl.doubtnut.com/l/_JszlKWVMTvwp
https://dl.doubtnut.com/l/_ygG8EIGWg1pn
https://dl.doubtnut.com/l/_uN6PNBwfLWnh
https://dl.doubtnut.com/l/_8fGGCqliV5JE


155. Factorize the following expressions

Watch Video Solution

x3 − − 2x +
1

x3

2

x

156. Factorize the following expressions

Watch Video Solution

x3 + 3x2y + 3xy2 + y3 − 8

157. Factorize the following expressions

Watch Video Solution

x6 − 7x3 − 8

158. Factorize the following expressions

x3 + 8y3 + 64z3 − 24xyz

https://dl.doubtnut.com/l/_8fGGCqliV5JE
https://dl.doubtnut.com/l/_AE3KjNs7eHpl
https://dl.doubtnut.com/l/_5yxmXZ21Sw2y
https://dl.doubtnut.com/l/_dvwkiYLRD9Se


Watch Video Solution

159. Factorize the following expressions

Watch Video Solution

1 + y3 + 8z3 − 6yz

160. Factorize the following expressions

Watch Video Solution

125 − 8x3 − 27y3 − 90xy

161. Factorize the following expressions

Watch Video Solution

2√2a3 + 16√2b3 + c3 − 12abc

https://dl.doubtnut.com/l/_dvwkiYLRD9Se
https://dl.doubtnut.com/l/_tHaTwg5fafMO
https://dl.doubtnut.com/l/_wXa1ZixexD9Z
https://dl.doubtnut.com/l/_yai4wuVg1Wkd


162. Find the following expressions

Watch Video Solution

(4x − 3y + 2z)(16x2 + 9y2 + 4z2 + 12xy + 6yz − 8zx)

163. Find the following expressions

Watch Video Solution

(3x + 2y + 2z)(9x2 + 4y2 − 6xy − 4yz − 6zx)

164. Find the following expressions

Watch Video Solution

(x − 2y + 3)(x2 + 4y2 + 2xy − 3x − 6y + 9)

165. Find the following expressions

(x − 2y − z)(x2 + 4y2 + z2 + 2xy − 2yz + zx)

https://dl.doubtnut.com/l/_Q5au2FLJV0Yf
https://dl.doubtnut.com/l/_W6XdnfkavHGV
https://dl.doubtnut.com/l/_PGPI40mO8pmO
https://dl.doubtnut.com/l/_gvfsqBcq1dmG


Watch Video Solution

166. Evaluate:

Watch Video Solution

483 − 303 − 183

167. Without actually calculating the cubes, find the value of:

Watch Video Solution

( )
3

+ ( )
3

− ( )
3

1
2

1

3

5

6

168. Evaluate

Watch Video Solution

(0.2)
3
− (0.3)

3
+ (0.1)

3

https://dl.doubtnut.com/l/_gvfsqBcq1dmG
https://dl.doubtnut.com/l/_de8G5NO1MtVo
https://dl.doubtnut.com/l/_VxQ1OLEwvu9D
https://dl.doubtnut.com/l/_lKLAUTIcyawo
https://dl.doubtnut.com/l/_uCJdpPvE5ngh


169. Factorize:

Watch Video Solution

(3a − 2b)
3
+ (2b − 5c)

3
+ (5c − 3a)

3

170. Factorize:

Watch Video Solution

a3(b − c)
3
+ b3(c − a)

3
+ c3(a − b)

3

171. If x+y+4=0, find the value of 

Watch Video Solution

x3 + y3 − 12xy + 64

172. If a+b+c=9 and ab+bc+ca=26, find the value of:

.

Watch Video Solution

a3 + b3 + c3 − 3abc

https://dl.doubtnut.com/l/_uCJdpPvE5ngh
https://dl.doubtnut.com/l/_jizMrInme6Ne
https://dl.doubtnut.com/l/_kFuqZhEZ7WDZ
https://dl.doubtnut.com/l/_Mxrkozxhf0qQ


173. If  then find the value of 

Watch Video Solution

x + = 3
1

x
x2 +

1

x2

174. If x-y=5 and xy=12, find the value of 

Watch Video Solution

x2 + y2

175. If a+b+c=0, then what is the value of 

Watch Video Solution

+ +
a2

bc

b2

ca

c2

ab

176. If  and ab+bc+ca=3, find a+b+c.

Watch Video Solution

a2 + b2 + c2 = 250

https://dl.doubtnut.com/l/_Mxrkozxhf0qQ
https://dl.doubtnut.com/l/_2xfO1RmrUbVn
https://dl.doubtnut.com/l/_pK7SqnJd20bZ
https://dl.doubtnut.com/l/_10vxbz2ZtDav
https://dl.doubtnut.com/l/_qHHmU8XA9Btl
https://dl.doubtnut.com/l/_T2Jpg4k5n1xd


177. Write the value of 

Watch Video Solution

303 + 203 − 503

178. Define zero polynomial.

Watch Video Solution

179. State Remainder and Factor Theorems.

Watch Video Solution

180. If x+1 is a factor of , then write the value of k.

Watch Video Solution

x3 + k

https://dl.doubtnut.com/l/_T2Jpg4k5n1xd
https://dl.doubtnut.com/l/_q97oR4Go40Jm
https://dl.doubtnut.com/l/_70BfaUGAbvod
https://dl.doubtnut.com/l/_9pft7raoOjmY


181. If  is a zero of the polynomial ,

find the value of a.

Watch Video Solution

x =
1

2
f(x) = 8x3 + ax2 − 4x + 2

182. Find the remainder when  is divided by x=0.

Watch Video Solution

x3 + 4x2 + 4x − 5

183. State that  is a polynomial or not.

Watch Video Solution

y3 + 5y + √y

184. A binomial can have degree more than 2.

Watch Video Solution

https://dl.doubtnut.com/l/_WaeRMnSjdCNc
https://dl.doubtnut.com/l/_h6t3YvvjGg90
https://dl.doubtnut.com/l/_cDuehRegu5cJ
https://dl.doubtnut.com/l/_DLKKEnASb4Zt
https://dl.doubtnut.com/l/_tQsKRsMxNClv


185. Number of zeroes of a polynomial cannot exceed its degree.

Watch Video Solution

186. .

Watch Video Solution

(30)3 − (18)3 − (12)3 = 19450

187. Polynomial of different degrees cannot be added.

Watch Video Solution

188. Factorize the given expression

Watch Video Solution

a − b − a3 + b3

https://dl.doubtnut.com/l/_tQsKRsMxNClv
https://dl.doubtnut.com/l/_d3B0CdunGBiC
https://dl.doubtnut.com/l/_QkfFlxRam0dP
https://dl.doubtnut.com/l/_NkFeWWhPD3kX


189. The value of the polynomial  at x=-1 is 10

Watch Video Solution

4x − 7x2 + 5x3 + 4

190. Zeroes of  are 0 and -5.

Watch Video Solution

x2 − 5x

191.  is a polynomial of degree 0.

Watch Video Solution

√2

192. If 'a' is a zero of the polynomial p(x), then p(a)=1.

Watch Video Solution

https://dl.doubtnut.com/l/_nxihSxXYZvGs
https://dl.doubtnut.com/l/_r7RNpWJepCFg
https://dl.doubtnut.com/l/_87geYqlcbK50
https://dl.doubtnut.com/l/_GpFUW6KabbGy


193. =………….

Watch Video Solution

(a + b)2 + (a − b)2

194. Factors of  are……………

Watch Video Solution

x2 − 3x + 2

195. 

Watch Video Solution

27x3 + 8y3 = (3x + 2y)…………. .

196. The value of  is…………….

Watch Video Solution

(249)2 − (248)2

https://dl.doubtnut.com/l/_yAKSYkOdUDIa
https://dl.doubtnut.com/l/_w77JBZ79awoz
https://dl.doubtnut.com/l/_oj3MLqQf1l1y
https://dl.doubtnut.com/l/_Yj6sDFow3b7s


197.  is a polynomal of degree ……………..

Watch Video Solution

√3

198. .

Watch Video Solution

(30)3 − (18)3 − (12)3 = 19450

199. =

Watch Video Solution

(0.137)
3
+ (0.113)

3

(0.137)
2
− (0.137)(0.113) + (0.113)

2

200. =………….

Watch Video Solution

(0.9x + 0.7y)(0.81x2 − 0.63xy + 0.492)

https://dl.doubtnut.com/l/_cciB4VBMm3WQ
https://dl.doubtnut.com/l/_KC6TmLMocZ7S
https://dl.doubtnut.com/l/_LJ3pBPRQZnC5
https://dl.doubtnut.com/l/_HWi0U2gqemXo


201. ……………

Watch Video Solution

(185)2 − (115)2 =

202. Volume of a cuboic is  cubic units then the

possible dimensions of the cuboid are …………,…………….and……………..given

that x>5.

Watch Video Solution

7x2 − 56x + 105

203. Which of the following is a polynomial?

A. 

B. y

C. 

D. 

3√y + 4

√y − 3

+ 7
1

√y

https://dl.doubtnut.com/l/_jSOMG4UyZfbE
https://dl.doubtnut.com/l/_PnKaLtxRE7YS
https://dl.doubtnut.com/l/_PB6unCj4au3z


Answer:

Watch Video Solution

204. Which of the following is a linear polynomial?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x + x2

5x2 − x + 3

x + 1

x +
1

x

205. Degree of zero polynomial is

A. 0

https://dl.doubtnut.com/l/_PB6unCj4au3z
https://dl.doubtnut.com/l/_1AEVJfExc1vx
https://dl.doubtnut.com/l/_d8kV8ZBDJn9V


B. 1

C. Not defined

D. None of these

Answer:

Watch Video Solution

206. The factors of  are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x3 − 1 + y3 + 3xy

(x − 1 + y)(x2 + 1 + y2 + x + y − xy)

(x − 1 + y)(x2 − 1 − y2 + x + y + xy)

(x + y − 1)(x2 + y2 + 1 − xy − x − y)

3(x + y − 1)(x2 + y2 − 1)

https://dl.doubtnut.com/l/_d8kV8ZBDJn9V
https://dl.doubtnut.com/l/_Cyp9XSK9tbGf


207. The factors of  are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x3 − 7x + 6

x(x − 6)(x − 1)

(x + 1)(x + 2)(x + 3)

(x2 − 6)(x − 1)

(x − 1)(x + 3)(x − 2)

208. If 3x=a+b+c, then the value of

 is

A. a+b+c

B. 0

C. (a-b)(b-c)(c-a)

(x − a)3 + (x − b)3 + (x − c)3 − 3(x − a)(x − b)(x − c)

https://dl.doubtnut.com/l/_Cyp9XSK9tbGf
https://dl.doubtnut.com/l/_xTwVPM5hCh3n
https://dl.doubtnut.com/l/_6D2WnXMflGMv


D. None of these

Answer:

Watch Video Solution

209. The value of  is

A. 2

B. 2.327

C. 3

D. 2.273

Answer:

Watch Video Solution

)
(2.3)3 − (0.027)

(2.3)2 + 0.69 + 0.09

https://dl.doubtnut.com/l/_6D2WnXMflGMv
https://dl.doubtnut.com/l/_pY759e7bqkd4


210. If p(x)=x+4, then p(x)+p(-x)

A. 0

B. 2x

C. 4

D. 8

Answer:

Watch Video Solution

211. If  then k=

A. 2

B. 3

C. -2

D. -1

(x2 + kx − 3) = (x − 3)(x + 1)

https://dl.doubtnut.com/l/_rg2SNbbyOqVX
https://dl.doubtnut.com/l/_FJpD3hwPgrsk


Answer:

Watch Video Solution

212. When  is divided by (x+1), the remainder is

A. 0

B. 1

C. 30

D. 31

Answer:

Watch Video Solution

(x31 + 31)

213. Find the remainder when the polynomial:

 is divided by (2x-1)f(x) = 4x3 − 12x2 + 11x − 5

https://dl.doubtnut.com/l/_FJpD3hwPgrsk
https://dl.doubtnut.com/l/_TTt8NcqhtgnJ
https://dl.doubtnut.com/l/_rMBqrMmA68LL


A. 0

B. -5

C. -2

D. 2

Answer:

Watch Video Solution

214. If x-2 is a factor of , then a=

A. 2

B. -2

C. -1

D. 1

Answer:

x2 + 3ax − 2a

https://dl.doubtnut.com/l/_rMBqrMmA68LL
https://dl.doubtnut.com/l/_1kUziBL1VDlb


Watch Video Solution

215. If  is exactly divisible by x+2 then k=

A. -6

B. -8

C. -7

D. -10

Answer:

Watch Video Solution

x3 + 6x2 + 4x + k

216. If  is divisible by x+1, then the value of k is

A. 1

B. 2

x140 + 2x151 + k

https://dl.doubtnut.com/l/_1kUziBL1VDlb
https://dl.doubtnut.com/l/_LC5nGkXwx2zL
https://dl.doubtnut.com/l/_oSCBV8BGpL9w


C. -3

D. -2

Answer:

Watch Video Solution

217. Let f(x) be a polynomial such that 

A. 2x-1

B. x-1

C. 2x+1

D. x+1

Answer:

Watch Video Solution

f( − ) = 0
1

2

https://dl.doubtnut.com/l/_oSCBV8BGpL9w
https://dl.doubtnut.com/l/_mglF3eO7eHVE
https://dl.doubtnut.com/l/_neWNpKlpuFkr


218. One factor of  is  the other factor is:

A. 

B. 

C. x-4

D. x+2

Answer:

Watch Video Solution

x4 + x2 − 20 x2 + 5

x2 − 4

x2 − 5

219. If (x-1) is a factor of polynomial f(x) but not of g(x), then it must be

a factor of

A. f(x)g(x)

B. f(x)-g(x)

C. −f(x) + g(x)

https://dl.doubtnut.com/l/_neWNpKlpuFkr
https://dl.doubtnut.com/l/_q86H7cHx6YvZ


D. [f(x)+g(x)]g(x)

Answer:

Watch Video Solution

220. (x+1) is a factor of the polynomial

a. 


b. 


c. 


d. 

A. 

B. x^3+2x^2-x-2

C. 

D. 

Answer:

x3 − 2x2 + x + 2

x3 + 2x2 − x − 2

x3 + 2x2 + x − 2

x3 + 2x2 − x + 2

x23 − 2x2 + x + 2

x3 + 2x2 + X − 2

x3 + 2x2 − x + 2

https://dl.doubtnut.com/l/_q86H7cHx6YvZ
https://dl.doubtnut.com/l/_wtsUqrlol6k1


Watch Video Solution

221. =

A. (2x+1)(3x+5)

B. (6x+5)(x+1)

C. (2x+5)(3x+1)

D. none of these

Answer:

Watch Video Solution

6x2 + 17x + 5

222. If (x+5) is a factor of , then k=

A. -5

B. 3

p(x) = x3 − 20x + 5k

https://dl.doubtnut.com/l/_wtsUqrlol6k1
https://dl.doubtnut.com/l/_CsEvo2BbN3T5
https://dl.doubtnut.com/l/_WSCJZyDbGxbg


C. 5

D. -3

Answer:

Watch Video Solution

223. If  where  and  then the value of 

 is

A. 1

B. 0

C. -1

D. 

Answer:

Watch Video Solution

+ = − 1
x

y

y

x
x ≠ 0 y ≠ 0

(x3 − y3)

1

2

https://dl.doubtnut.com/l/_WSCJZyDbGxbg
https://dl.doubtnut.com/l/_EHNjzV77JeFl


224. The value of 

A. 1

B. 37

C. 81

D. 737

Answer:

Watch Video Solution

(369)2 − (368)2 = ?

225. The coefficient of x in the expansion of  is

A. 1

B. 18

C. 9

D. 27

(x + 3)3

https://dl.doubtnut.com/l/_jhJadn8R9ZLv
https://dl.doubtnut.com/l/_VZmpf5mAao1g


Answer:

Watch Video Solution

226. If x+1 is a factor of the polynomial , then k=

A. -2

B. 4

C. -3

D. 2

Answer:

Watch Video Solution

2x2 + kx

227. If  is a factor of , then

A. a+c+e=b+d

x2 − 1 ax4 + bx3 + cx2 + dx + e

https://dl.doubtnut.com/l/_VZmpf5mAao1g
https://dl.doubtnut.com/l/_xZA0TDexvWPC
https://dl.doubtnut.com/l/_V5TXu8QMOsFz


B. a+b+e=c+d

C. b+c+d=a+e

D. a+b+c=d+e

Answer:

Watch Video Solution

228. For some integer m, every even integer is of the form:

A. m

B. m+1

C. 2m

D. 2m+1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_V5TXu8QMOsFz
https://dl.doubtnut.com/l/_jKyknARopGmQ


229. For some integer q, every odd integer is of the form

A. q

B. q+1

C. 2q

D. 2q+1

Answer:

Watch Video Solution

230.  is divisible by 8, if n is

A. 1) an integer

B. 2) a natural number

C. 3) an odd number

n2 − 1

https://dl.doubtnut.com/l/_jKyknARopGmQ
https://dl.doubtnut.com/l/_Ng3hP2MMfm5b
https://dl.doubtnut.com/l/_dGIirmo6WBRN


D. 4) an even integer

Answer:

Watch Video Solution

231. If the HCF of 65 and 117 is expressible in the form 65m-117, then the

value of m is

A. 4

B. 2

C. 1

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dGIirmo6WBRN
https://dl.doubtnut.com/l/_ueMVNAVO6t7v


232. The largest number which divides 70 and 125, leaving remainders

5 and 8 respectively, then HCF(a,b) is

A. 13

B. 65

C. 875

D. 1750

Answer:

Watch Video Solution

233. If two positive integers p and q can be expression as  and 

,a,b being prime numbers than LCM(p,q) is

A. ab

B. 

p = ab2

q = a3

a2b2

https://dl.doubtnut.com/l/_SbwGuQ412Eru
https://dl.doubtnut.com/l/_PZhRAPD8jmlp


C. 

D. 

Answer:

Watch Video Solution

a3b2

a3b2

234. The product of a non-zero rational and irrational number is

A. always irrational

B. always rational

C. rational or irrational

D. one

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PZhRAPD8jmlp
https://dl.doubtnut.com/l/_dhi1JaHwkr0n
https://dl.doubtnut.com/l/_0Ods6jBBGZHQ


235. The least number that is divisible by all the numbers from 1 to 10

is

A. 10

B. 100

C. 504

D. 2520

Answer:

Watch Video Solution

236. The decimal expansion of the rational number  will

terminate after

A. one decimal place

B. two decimal places

C. three decimal places

14587
1250

https://dl.doubtnut.com/l/_0Ods6jBBGZHQ
https://dl.doubtnut.com/l/_fXVM9UwBKaoP


D. four decimal places

Answer:

Watch Video Solution

237. Find the zeroes of the polynomial 

Watch Video Solution

x2 − 5x

238. Evaluate: 

Watch Video Solution

(a − b)3 + (b − c)3 + (c − a)3

239. Using Remainder theorem, find the remainder when

 is divided by (2x-1)

Watch Video Solution

4x3 − 12x2 + 11x − 5

https://dl.doubtnut.com/l/_fXVM9UwBKaoP
https://dl.doubtnut.com/l/_oWpz0wzPBoql
https://dl.doubtnut.com/l/_jNSsasq8z5do
https://dl.doubtnut.com/l/_9b8IXooT0jWc


240. Using factor theorem, prove that x-y is a factor of

Watch Video Solution

x(y2 − z2) + y(z2 − x2) + z(x2 − y2)

241. Show that p-1 is a factor of  and also 

Watch Video Solution

p10 − 1 p11 − 1

242. If x+2a is a factor of  find a.

Watch Video Solution

x5 − 4a2x3 + 2x + 2a + 3

243. Without actually calculating the cubes, find the value of:

Watch Video Solution

( )
3

+ ( )
3

− ( )
3

1
2

1

3

5

6

https://dl.doubtnut.com/l/_9b8IXooT0jWc
https://dl.doubtnut.com/l/_ja2M9MgprcmD
https://dl.doubtnut.com/l/_HxQczsr21W88
https://dl.doubtnut.com/l/_YJlneGSxj066
https://dl.doubtnut.com/l/_Ao972XcYREgA


Watch Video Solution

244. If both x-2 and  are factors of , show that p=r.

Watch Video Solution

x −
1
2

px2 + 5x + r

245. Find the integral zeroes of the polynomial:

Watch Video Solution

p(x) = x3 + 6x2 + 11x + 6

246. If , evaluate 

Watch Video Solution

x2 + = 79
1

x2
x3 +

1

x3

247. Using factor theorem factorise 

Watch Video Solution

p(x) = x3 − 23x2 + 142x − 120

https://dl.doubtnut.com/l/_Ao972XcYREgA
https://dl.doubtnut.com/l/_gZtSLLCcYby9
https://dl.doubtnut.com/l/_gnDIjmYk5vKT
https://dl.doubtnut.com/l/_YUx8X05aiW19
https://dl.doubtnut.com/l/_JGfHEFd7u3Nm


https://dl.doubtnut.com/l/_JGfHEFd7u3Nm

